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w(tgy — tas) az -t
\%
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F(t) o<t<t;=F(1)=F,

ty<t = F(r)=0
F
Fe (&
k —»y
IO m e _ t
ome) 0 T t:
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Ligyi asag aae dla & oY) dlaall 8 Glain) o DA (e doans ) Aalaad ()5S Ul
:48 all A8y
y1(t) = ys: (1 — cos(wt)) (2 —106)
]
% J

——



g <t<t,y: Lﬁrnﬂ‘ Jaal) -a-2
(UALG.A\ cafial) :\.MA) (2 = 25) dxpall 4a;as 348l C‘-’u iDle

F tg, — t F
0 =2 B () =Fy——.1
F() tga—tg—T tq

t=10—1tg15tq = tgx — tas
sl Al LS Y sV e S i s I el G all BV ik G
2 (2 =83) 5(2 = 82) el " Jukaiasal

Vig, = YSt(l — COS(wtdl)) (2—-107)
Viy, = Vst wsin(wtqq) (2 —-108)
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Va? + b2 5 VaZ + b2~ )
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M\ Qﬂ\ [ATEN ct,\,j&ﬂ\ L_A:— (2—166) 9 (2—163) u.\.u_”u.al\ DA % );J\ B) Lﬁ)—u\ﬁj\

-

(2-170)

Tt
pLF=22-2 2 - 171)

2
Oe B22aall 5 yuill f5aY) sk (e B22al) mkc;,i\:;ﬂ\ Op SV o LD kel dlana)
(3Sias S0 B Y1 ) 01 22 > 0.5 Jal e s 4 a3 I DS G Al S5Y1 sk
Laadac V) Al (s %d < 0.5 Laie 5)al dga oy cpanll b oW 8 Llaau) 5,0 435
L= 0.5 Lo Aalall Al b W el Y1 sk Dl A1 550 s 2
Caaday ansy Lo Ll ooty ZaBiall Y laall oda prend (e Blgdll b wsasly Gallall 6 Llsany)
Asse Coaly dice Ly 34l aauall

b AU Al deadiuall Gl Gl maliyll Aaulsy i) auy dal (e

z=%)x=t‘%o@m¢p
x €]0,0.5[ Jal ¢
:JSAIL (2 — 170) Aaleall (e DLFMAX 22y

cos(Tx)
DLF = —— (2 —172)
X [(;) - 1]
x=0.5 Jal e
(2 = 171) 4azall (o DLFMAX 23ay
DLF = g (2 - 173)
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x €]0.5,2.5] Jal ¢
L=1 W (2 — 168) daall ;e DLFMaXx s2s
) JSEI (2 — 168) Asbeall iS¢ L=1 ety X = td?l Sl slaeyy

DLF— 1 21
]Sm 1+2x xS T
2X

(2 —174)

X €]2.5,4.5] dal o

L=2 L (2 — 168) dasall ;0 DLFMAX 2aa,

: ol JSAl (2 — 168) lslaal) 5 ¢ L=2 iaypailly X = td?l Lo slaeyl
1 41

DLF— — —sin| ——
]Sm 1+2x xS T
2X

(2 — 175)

X € ]4.5,6] Jal ¢w
L=3 W (2 — 168) damall ;0 DLFMax s,
I _ . c 1= _ta
dS.uJL\ (2 168) M\C._)@ L 3}X T U
1 6T

DLF— L gin 2
] 1+2x B e CE
2x

(2—-176)
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m
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Ke W2
heQ
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K IS ) Al e
Ke = 2K; + (n — 1K, ‘
bY@l ase ;o ddalal) saee V) Ada 1 K, s A 30 Y ABla 1 K ¢ ) Sua
100 Asanball lasyl) Gla—2
G A e dasll) e alad) dla Ja e ledde Joan
det[[K.] — w?. [m]] =0
LS A 5o :[M] Dbl dsiae :[K] o) Cua

_ -ZKe _Ke _ m1 0
C i B R
[2Ke —Ke] o, [m; O] _
det[__Ke K, ) [ 0 m,l|” 0
5 o, - .
det [ZKe W my Kez ] —0
—Ke Ke — 0“m,

(m;.m,)w?* — (2Ke.m, + Ke.my)w? + K2 =0

1ol s
a = (m;.my)
b = —(2K..m, + K..m;)
c=K,?
a = (m;.my)
b =—-(2K..m, + Ke.ml)} = A=b? —4a.c
c =k?
t4iag

—b— VA —b + VA
Cu= T2 0 2T T2

sy baladl clua =3

[[Ke] — w2 [m]].[@] = 0
Lol ddgiias i [@] o) Cus

:d;ﬁ\ Ll

[ZKe - 00211m1 —Ke ] [®11] —~0
—Ke Ke — 00211m2 D21

aA
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(2K — 00211m1)®11 — Ke.03; =0
—Ke. 011 + (Ke — 0?11my). 0,1 = 0
b i) Al (sa) b asns By = 1 o Gaie

Dr1 = K
: S0l Jaadl)
[ZKe — w?ymy —Ke ] [®12] —0
—Ke Ke — w?3,m,] (@22

(2Ke — w?2,m; )@y, — Ko @y, = 0
—Ke. 015 + (Ko — 0?5,m,). @y, = 0
paaid QL) Gililaall (sas) A asais Brp = 1 ol i
2K, — w?,,m,
Dap = K,
dlaa S he Jall aall g iyy) g me Akal) ddaall Al Olus -4
: ISl dudaail) Gailadl) Clual dalall i@l Jaati 0 Laall Jal o1

n
_ A 2)
n mel’l = M
j=1 L8
n l hen = Th
j=1 J
tJoy) Laadl) dal e )58
2
Lh
M, = rrl1-(25112 + m2.®212 me, = ( 1)
h M,
Ll = m,. @11 + m,. @21 = Le
L? ES ml.hl. @11 + mz.h2.®21 hel = L—lj
1
t S Taadll Jal (e
2
Lh
M2 = m1.®122 + m2.®222 meZ = ( 2
h M,
LS = m,. ®12 + ms,. @22 = Le
Lg == ml.hl.le + mz.h2.®22 k heZ = _hZ
L2
()
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JAbleal)
oo Aludi g Facars Algand djaall 5 (sl 200 chY) e Jalage JalS5 Gl Jé

PJSEIG Baals Apa dapn ld Baaly JS Jan EDIE (e Adlge 4810 Alea ) U] Jysail ilgleal)

=Yy
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Me1
@

Wi W2 W3
h81 he2 h el
Ke ke Ke

ladill aiia sk A3 LU ASISal Alaad) :(3-12) 8
A Abadl S i) (65 i) 2ngiy Ales IS e Jelbg JlS5 s 5 (o
psii A Jaall ) Jgailly DN cllainy] Glaige goanal ool il e 3le Uy
K <) Ladll A8l Claan1

Ke = 2K; + (n — 1)K,
ObY) il axe ;s dlalall aee Y Adla 1 K, doa Jlall saee N Ala t K ¢ o) dua

@ Gunlall gl a2
AN A e Aasll e slad) Alaa Ja e lede Joans
det[[Ke] — w?. [m]] =0
AN 2 e [m]ekdcl Fh i :[K] e o

2K, —-K, 0 m, 0 0
K] = |-K. 2K, —-K.| , [m]= [ 0 m, 0 ]
| 0 —Ke Ke | 0 0 my
2K, -K, 0 m, 0 0
det||-K, 2K, —K.|—-w? [ 0 m, O ] =0
0 -K. K, 0 0 m
2K, — w?my —Ke, 0
det —K, 2K, — w?m, —K, =0
0 —Ke, Ke — w?mg

PSS ~3lal g Sl g
—(m;. m,. m3)(w?)3 + Ko (2m,. m3 + 2m;. m3 + m;. m,)(w?)?
- Ke2(3m3 + 2m2 + ml) + Ke3 = 0




1ol pas
a == _ml.mz.m3
b == Ke(zmz.m3 + Zml.m3 + ml.mz)
c = —K.*(3m; + 2m, + m,)
d = K,>
a(w?)® + (2m,.m3 + 2m;.m3 + 2m;. m,)(w?)? + c.w? +d =0

D le dians dalrall Jan

W11 ) W32 ’ W33
Syl blal e =3
A e l3aY) Jaladl o

[[Ke] — w2 [m]].[0] = 0

Ll ddgias o [@] of Cua

:J oY) Laaill
2K, — 00112m1 —Ke 0 D14
_Ke ZKe - (1)112m2 _Ke . |:®21] - 0
0 _Ke Ke - (,0112m3 ®31

(2K, — w?31my)PBq — Ke. @21 =0
—Ke. 011 + (Ke — w?11my). Ppq — Ke. 03, =0
—Ke. 021 + (Ke — 0?11m3). 0,1 = 0
ranid Ll Cpilaladll B ety B = 1 o) i

2K — w?ymy 2K — w?yymy
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1 S L)
2K — w5,°my —Ke D12
—K, 2K, — w,,%m, - @22] =0
0 —K, Ke —oozz m;| P32
0y =1 o pasis
2Ke — w?5,my 2Ke — w?5,my
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ZKe - (1)233m1 _ ZKe - (1)233m1

®23 - k ’ 33 Ke - (1)233.m3
tilea JSUhe JGdll Jaaill ¢ i3Y) 5 me Al dplaal) A Clus —4
: ISl dudaail) Lailadl) Clual daladl cil@all Jaati 0 Laall Jal o

n
_ 2)
Mn = . m](Z)]n Lh 2
j=1 ( (L})
! e =M
L}rll = _ m](Z)]n ) { e1’1
j=1 h Ln
! en = Th
L?l = m]hn ®]n k Ln
j=1 J
tJs¥) aadl) dal e )58
2
Lh
M; = m;. (25112 + mj. (25212 + +m;. Q)312 (mel = Q
h M,
Ll = ml- @11 + mz. @21 + m3. @31 St Le
L?l = ml.h1.®11 + mz.h2.¢21 + m3.h3.®31 k hel = L—};L
1
S Tl Jaf e
2
Lh
MZ = m1.®122 + m2.®222 + +m3.¢322 me, = ( 2)
h M,
LZ = I’Ill. @12 + mz- @22 + m3.®32 = Le
Lez == ml.h1.®12 + mz.hz.wzz + m3.h3.®32 hez = L_l’12
2
sl Jaail) Jal g
2
Lh
M3 = m1.®132 + m2.¢232 + +m3.®332 me3 = ( 3)
h M,
L3 = m,. @13 + m,. @23 + m3.®33 = L9
Lez == ml.h1.®11 + mz.h2.®23 + m3.h3.®33 he3 = L—hs
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& Juadl)
gl dbalyr Jalagad Jalsi 33y dpdail) cigaall Calial) Alaiud) cilidle daay
.MATLAB.
A4S Apanl) sl JISEY ASpaliall Alain) il Aalaial) eyl aaag oy Jocdll 130
Nginayn i il Bl s pe
Jales Al ety Glaad dyglhaa) 4kl Bl aaadl daPd) clilaall ¢ha) sy
g MATLABY zaliy aladinly Bl 03 daayy asii DLFMAX abiel) Salial) seal
Al asi sl pars jdisle)ye
s el 380 iy Adgans s Ay -4-1

P Agaldl -

—Inputs for ( y(t) & t Diagram }
—Inputs F(O) °
1 1 (seg) =
m
k (kn/m} = gL_rm ) t2(sec) =
dt =
mikn.sec2/my = 0 - = .,
I3
plot
vl (misec) =
1
Y0 (m) = 038
y= m 0.6
0 (kn) =
04
t (seg) = DIF=
0.2
Do ] ) ‘ ) ‘ )
0 02 04 0.6 0.8 1

CBanl g Aun Aa e il Aas (B8 e sl JO il pdad U gas Als gl s 1(4-1)Jsd
tlghaay ot Al Llaauy) Glidle -
S5 Laga
A all dagana Al gyl Jls A *
y(O = yse[ 1 = cos(wt)]
A all dagaa pe Adla) dagd Jls & %

Vo .
y(©) = (o — ¥st) cos(wt) + ;sm(wt) + ¥st
el il 3 celm cald) b A Aladl s3gy dalal) dluadil) Ayl Glidle

VoY
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| —



RN

ki k2 k2 k

P dgalsll —

Inputs 2{Pulse Properties)——

vl {m/sec) =
—Output
¥0 (m) = E
—Inputs 1{Frame Properties) 0 tkn} =
t (sec) =
o
k2 (kn/m) = vitm) = DiFt=
mifkn.sec2/m) =
. = DLF2=
m2(kn.seczim) = ~Inputs for { y(t) & t Diagram )— y2(m)
n1 {m) t1 (sec) =
™) = _
yiot(m = DiF tot=
t2 (sec) =
h2 (m) =
dt =
Number of Spans
[ Plot ]

ol ) B e aana culh JS b pn Algan Alla Agaly :(4-2)0S80
ey i 3 Llai) clile -
A0S0 lega

y1() = yse[ 1 = cos(w,1)]
y2(8) = yse[ 1 = cos(w,1)]

Viot () = Vy1(D)2 + y2(t)2

\Y%
yL() = (7o — yst) cos(wnt) + —sin(w;t) + s
1

Vo .
y2(t) = (yo — yst) cos(w,t) + w—sm(wzt) + Vst
2

Vot (D = Vy1(D)? + y2(t)?
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_
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tladill daeyll e —
el Gall & delm Calall 8 die Aa s3gs Aaldll Hlaiill Ayl ilidle

Gl (N ) A I s oyl (S Ay Alges Al -4-1-3

e [T TR T

tdgalsl —
~Inputs 1{Frame Properties) e, iy
[ m
K1 (knim) = mi(kn.sec2im) = ht(m)=
1k
k2 (knim) = m2{kn.sec2/m) = h2(m) = -
t
Number of Spans | o in sec2im) = 3 (m) =
— Output
Inputs 2{Pulse Properties}——— - Inputs for { y(t) & t Diagram )
v (misec) = t (sec) = BEEg)=
£2 (see) = yi(m) = DLF1 =
yo{m =
dt = y2(m) = DiLFZ2=
e
y3 (m) = DLF3=
yiot(m) = DLF tot =

sl (35 ) B it saiana i JS 3 Apiasi Alsan Alla Agaly :(4-3)Jsdl
gy At ) At cldle —
y1(t) = yse[ 1 — cos(wt)]
y2(t) = yse[ 1 — cos(w,t)]
y3(t) = ys¢[ 1 — cos(wst)]
Viot(D) = /y1()2 + y2(£)% + y3(t)2

£S5 Lagn Al agina e Afls lagyd Jla 3 *

Vo .
y1(t) = (yo — yst) cos(w,t) + w—sm(oolt) + Vst
1




—Inputs FO) —Inputs for { y(t) & t Diagram )

Vo .
Y2() = (o = Ys) €OS(w1) + —=5in(w;0) + ¥
2
Vo .
Y3() = (o — Ys) COS(w30) + —=sin(ws) + ¥
3

Viot () = Vy1(D)2 + y2()2 + y3(t)?
sl a@l) da syl e -
el sl 8 Telm calall 8 dipe Alal) 03¢ Lalal) Lluaiil] dasll Cldle

. pata Lliia IS5 Auay Adgaa Al daay -4-2

By da dgd il Ay A I el e JS& dulay Adges A -4-2-1

tdgalsl —

t1 (sec) =

k (knim) = t2(sec) =

mikn.sec2im) = dt =
v0 (misec) = plot

1

yo (m} =
0.8

f0 (kn) =
yig= m 06

td (sec) =
04

t(sec) = DLF =

0.2

Do . . . . )
‘ Show (td/T & DLFmax diagram ) % 02 04 0.6 038 1

Sanly Ay s 3 e (g 8ipe aienn e JS 3 Rpca Agan Al Al 1(4-4) g5
ey i 3 Blaiu) e -
A Fagana Al gyl Jla 3 *
0<t<ty

e 1
y(©) = yst (a - w_tdsm(wt)>

1 1
y(t) = yo (1 + oo_td sinfw(t—tgy)] — oo_td sin(oot))

0<t<ty

y(t) =y, cos(wt) + (V—O _ s )sin(oot) +y ti
w w td S td
g <t




VO YSt ) . YSt .
t) = D+ (—-— £) +— t—t
y(t) =y, cos(wt) + (u) oty sin(wt) + ot sin[w( O]+ Vst

:DLFMaX sais auyl ginayn stiw Al adae)  Sulial) geal) Jale Clua Glle —

1 1
DLF .« =1+ 2—1szm[21t(z —Xx)] — 2—1TXsm(21Tz)

DLF, . =% cos(2 )+(V°'T 1)'(2 ) + ——sin[2 141
max = — cos(2mz oy Znx sin(2mz 21TXsm m(zZ — X)

Yst
il il daeyd) ClBle —

edall (el 3 cc2.m bl 8 die Aa) 03 dalil) Alail) dayl) DI
- Cntallag ) (B A5 s afie JSdy dpay Agaa Alla -4-2-2

eo (LTI

ki ke ko k

Al -

— Inputs 2{Pulse Properties)
v0 (misec) =
r Output
yo(m)=
— Inputs 1{Frame Properties) D)=
td(sec) =
K1 (ki) =
t {seg) =
K2 (knim) = — = DLF1 =
= ¥ (m)
mifkn.sec2im) = y2 (m) = DLF2 =
— Inputs for { y(t) & t Diagram }
2(kn.sec2/m) =
m2(kn.sec2im) ytot (m) = DLFtot=
1 (sec) =
hlm=
12 (sec) = | Show DLFmax
h2(m) =
dt =
Number of Spans Plot

SOty ) A 8i5e palsa e JS& ) Apdayl Agen Al Agaly :(4-5)Jsall
tlghiaay ot Al Llaauy) e -
1Sl Aagana Al lagyd Jla A
0<t<ty
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_
<

| —




t 1
yl(t) = ySt( " Sin(w1t)>

G w1y
t 1
y2(t) = yst a - ©,tq sin(w,t)
Vot (D = Vy1(D? + y2(1)?
g <t
1 1
yl(t) =y | 1+ oty sinfw; (t —tq)] — oty sin(w;t)
1 1
y2(t) =y | 1+ oty sinfw, (t—tg)] — oty sin(w,t)
Vot (D = Vy1(D? + y2(t)?
Al dagaea ye Al Jagyd Jla b ¥
0<t<ty
y1(t) =y, cos(w t) + (E _ st )sin(wlt) +y ti
w (,l)ltd S td
y2(t) =y, cos(w,t) + (ﬁ _ st )sin(wzt) +y ti
Wy Wty *tg
Vot (D = Vy1(D? + y2(t)?
tg <t
V0 YSt . YSt .
1(t) = t —_—— t t—t
V(O = yocos(yt) + (= o sin(ent) + 2t sinfos (t — ta)] + s
VO YSt . YSt .
2(t) = t —_—— t t—t
V200 = yo cos(wy) + (o = =) sin(wz) + 2 sinfo (t— t)] + it

Vior(D) = Vy1(D)2 +y2(1)?
o lginay die ) DLFmaxd eV Sl Dgaall dole cla aldle -

DLFmax, jsie

1 1
DLF.x =1+ 2—1_[Xsin[21r(z —x)] — 2—1_[Xsin(21'tz)
DLFimax (tot) = v 2(DLFinax)?

DLF .1 = &cos(an) + (VO. h — )sin(an) + isin[21T(z -x)]+1
T yy 2Myse  2TX 21X

DLF .42 = &cos(an) + (VO. k: — )sin(an) + isirl[Zn(z -x)]+1
M=y 2Ty, 2TX 21X

DLFmaX (tot) — \/(DLFmaxl)2 + (DLFmaxz)Z




: Auluadill daa )l GLe -

el (el 8 de2.m Cald) b de Al 03¢y dalal) Aduaiil] das ) e
. Gkl A ) A e el Afiie JO8 dplar Ages Al -4-2-3

eo JLLLLLLLL LTI
m:
ST TR LT
m1
DTN
ks k3 k ki
Aaidn gd Glghl) AN )
—~ Inputs 1{Frame Properties):
k1 ftkn/im) = mifkn.sec2im) = ht(m) =
k2 (kn/m) = me{kn.sec2im) = h2 (m) =
Number of Spans m3(kn.sec2im) = h3 (m) = — Output
rInputs 2(Pulse Properties) r Inputs for { y(t) & t Diagram ) yim) = DLFT =
v0 (misec) = tel (sec) = t1 (sec) =
¥2 (m)= DiF2=
40 (m) = t(sec)= 2 (sec) =
¥y3(m)= DLF3 =
di =
0 fkn) =
Plot || | ytotem= DLF tot =
[ Show DLFmax

t
y1(t) = ys (t— -
d

t
y2(0) = yst (t

d

t
y3() = yst (t

d

(S ) (B Biga palana yffia (JSE ) Apdayi Alges Ala Agaly :(4-6)Jsill

ginays afi Al Llai) e -
0<t<ty

1td

1
" sin(oolt)>

1
sin(w,t)
2tq

1
. sin(oo3t)>

w3y

——
| —



Viot(® = Vy1(D)2 + y2(D)2 + y3(t)?
tg <t

sinfjw{(t—t —
oty [wq(t—tg)] oty

y1(t) =y (1 + sin(oolt))

1 1
oaty sinfw, (t—tg)] — oty 51n((o2t)>

y2(t) = ys (1 +

1 1
' t—1ty)l —
oo sinles(t— )] - o

y3(t) =y (1 + sin(mgt)>

Viot () = Vy1(D)2 + y2()2 + y3(t)?

0<t<ty
1(t) =y, cos(w t) + (E— Vst )sin(u) t) + £
y Yo 1 W, Wty 1 Yst tg
V0 YSt .
2(t) = t (— - ) t —
y2(t) =y, cos(w,t) + 0,  gtq sin(w,t) + yst tg
%
y3(t) =y, cos(wst) + (—0 _ st )sin(wst) + Yot —
w3 w3ty tq
Viot()) = Vy1(D2 + y2()2 + y3(1)?
g <t
%
y1(t) =y, cos(w,t) + (—0 _ st )sin(u)lt) + Vst sin[w; (t — tg)] + Vst
0 t ) . t .
y2(t) =y, cos(w,t) + <00_2 - u):td) sin(w,t) + u):td sin[w, (t —tg)] + Vst
Vo Vst ) Yst .
3(t) = t —_— t t—t
y3(0) = yo cos(st) + (% = ) sin(ws) + o sinfog(t— t)] + iy

Viot() = Vy1(0)? + y2(D)2 + y3(t)2
o lginay die ) DLFmaxd eV Swlial) dgaall dole cla aldle -
.DLFmaxLFa;.aA

1 1
DLF.x =1+ 2—1_[X51n[21r(z —x)] — 2—1_[X51n(21'tz)

DLFmax toty = v 3(DLFay)?

DLF,. .1 = 2% cos(2 )+(V°'T1 1)'(2 ) + ——sin[2 1+1
maxl = Stcos mz oy Znx sin(2mz 21TXsm m(z — Xx)

\RK
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vy. T 1
DLF 242 = &cos(an) + ( o 2

) sin(2mnz) + % sin[2m(z —x)] + 1

Yst 2Ty 27X
DLF,. .3 = 2% cos(2 )+(V°'T3 1)'(2 ) + ——sin[2 141
max3 = Stcos mZ oy Znx sin(2mz 21TXsm m(z — X)

DLFmax (tot) = \/(DLFmaxl)z + (D]-‘Fmaxz)2 + (DLFmaX3)2
- Al eyl Dl —
el Gajill 3 TC2.m Gl b dige Alal) 03 dualall dluaiill daayl) cilide
. wa0lite l;\ﬁ'm S8 Auay ddgan Ala daayp -4-3
. daalg s Ay <l daa g_ﬁ g (ablita (Alla Jsdy doay dgas U -4-3-1

: dgalsll -
— Inputs — Inputs for { y(t) & t Diagram }
F(t
@ t1 (sec) =
k (knim) = t2(sec) =
Fo ke
ot =
mkn.sec2/m) =
g plot
vi) (m/sec) =
1
yo(m =

0.8

0 (kn) =
ko) yig= m 0.6

tel (sec) = 04

DLF =
t(sec) = 0.2

0 . . ‘ ‘ )
o ‘ Show (td/T & DLFmax diagram ) 0 02 04 06 08 !

Baaly da dags @l ey B 35 (alite Al JO& @) udani Agas Ala dgals:7)
:\SJ;“ :\.AJ.JM :\:\3\.311\ Jai)ﬁ: dl; ‘55 *

(4-gs

0<t<ty
t 1
y(t) = yg (1 — a — cos(wt) + w—tdsm(oot)>

g <t

1 1
y(t) = vyt ((o_td sin(wt) — cos(wt) — w—tdsm[w(t — td)]>
Sl dagie e AP hagyd Jla 8
0<t<ty

() = (o = Ya0) c0(0t) + (-2 + L) sineo) + -
S W wty S tq

——
| —



tyg

. _ Vo | Vst .. Vst . .
y(t) = (Yo — Vst) cos(wt) + (u) + wtd> sin(wt) oty sinfw(t —tg)]

A lginay atie ) DLFmaxd adae¥l Sl gl dole Gla cldle -

<t

:DLFmaxcé_'\;.u

Q.S)J 3.4)_\’.4 :\..\3\53.1\ L})ﬂ Ja LﬁA *
Z 1
DLF =1—--— 2 + ——sin(2
max ” cos(2mz) e sin(2mz)

voT

2my

DLFax = <& — 1) cos(2mz) + (
t

1
+ ) $in(211z) — —— sin[27(z — )]
s 27X 27X
ke adil) daa,dl e —
sl (sl 8 CC3.M Ll 8 Aie Al o3gs Aalt) duleoaitl) dnaydl e

Oy ) gﬁ A pablita lia g8y duay Agas A -4-3-2

ki ke ke k

P Agaldl —

F()

Fily —Inputs 2(Pulse Properties)—;
—Output
F " vl {m/sec) =
< =2 0 (m) =

o T t. >

10 (kry =
—Inputs 1{Frame Properties) td (seq) =
t{sec) =

K1 (knim) =

mifkn.sec2im) = v2(m) = DLF2 =
— Inputs for { y({t) & t Diagram )
2(kn.sec2/im) =

matkn.seczim) tf (sec) = yilot(m) = DLF fot =

Gl )= 12 (sec) =

h2(m)= o ’ Show DLFmax
Number of Spans I Plot I

Oy ) (B 55a (et (Al JSd i) Lpdai Adgas Ala dgally :(4-8)Js




i atie ) Ll clBle -

0<t<ty
t
y1(t) =y (1 — — —cos(w;t) + sin(wlt)>
tq w1tq
t 1
y2(t) =yt (1 — — — cos(w,t) + sin(wzt)>
tq watq
Vior(D) = Vy1(D)2 +y2(1)?
tg <t

1 1
y1(0) = yot (msm(wlo ~ cos(;) — o= sinfo (£~ ta)])

1 10
y2(1) = yst (wztd sinw,t) — cos(at) ~ —sinfu (- td)])

Yiot () = Vy1(D)2 + y2(t)?

0<t<ty
_ Vo Yst ) .. tg—t
y1(t) = (yo — yst) cos(wst) + |—+ sin(w1t) + yst
w1 (Dtd td
_ Vo Vst . tg —t
y2(t) = (yo — ¥st) cos(w,t) + | —+ sin(w,t) + ys¢
Wy Wyly tq
Viot(® = Vy1(D)? + y2(t)?
g <t
Vo Vst ) Vst .
y1(t) = (yo — yst) cos(w,t) + |—+ sin(w,t) — sin[wq (t — tg)]
%)1 w1y w1l
Y2(0) = (7o = Yao) c05(@070) + (= + = sin(w,8) == sinfw, (¢ - ta)]
Wy Wyty wyty

Viot(® = Vy1(D?% + y2()2

o lginay e ) DLFmaxd eV Swlidl) dgaall dole cla aldle -
:DLFmMax, jai

yA 1
DLF.x =1— < cos(2mz) + 2—1szin(2nz)
DLFmax (toty = v 2(DLFmay)?

Y'Y

——
| —




Al agiea e Al Lagyd Jla 6 ¥

Yo voTy 1 . 1

DLF 041 = (E - 1) cos(2mz) + (21Tyst + an) sin(2mz) — 2—1szm[21t(z —Xx)]
Yo Vo T, 1y . 1

DLF a2 = (E — 1) cos(2mz) + (ZT[YSt + 21TX> sin(2mz) — Rsm[Zn(z —Xx)]

DLFmax toty = v (DLFax1)2 + (DLF 0,.2)2
siluadill Aoyl Cilde —
.Guu.d\ ua)ﬁ\ Lg dc3.m el E AGne AW 53 Aaldll Ay o) Z\;.q).,d\ e
Grlghall AU W) B e ablite Alle Sy Ay Agas Alla-4-3-3
o [T

Aain g lehl) 00 )

F(t)
—~Inputs 1{Frame Properties)
k1 (knim) = mifkn.sec2im) = l(m) =
k2 (knim) = m2(kn.sec2/m) = h2(m) =
~ Qutput:
Number of Spans  ma(kn.secsim) = B3 (m) =
—Inputs 2(Pulse Properties rInputs for { y(t) & t Diagram )—
puts 2( P ) P { vit) gram } V1 (m = Ee
v0 (misec) = tef (sec) = 1 (sec) =
12 (sec) = y2 (m)= DLF2 =
y0 (m) = t {sec) =
dt = ¥3(m)= DLF3=
Plot ytot (m) = DLF tot =
[ Show DLFmax

D ) B Byt (ablita A J5 3 dpad Agan Ala dgaly :(4-9) il

gy i 2 Alain)) e -
A dagie Al Lagyd Jla 6 ¥
0<t<ty




t
yi(t) =y | 1— o cos(w t) + sin(w;t)
d

w1ty

t 1
1-— o cos(w,t) + . sin(w,t)

2(t) =
y2(t) = yst ;) oty

t
1 —— —cos(wst) +
tq w3lg

Viot () = Vy1(D? + y2(D)2 + y3(t)2

y3(t) = yst sin(wst)

tg <t
1 1
1(t) = (— i t) — t) — i t—t )
y (t) Vst witd sin(w;t) — cos(w,t) (Dlltd sin[w;( d)]
2(t) = i t) — t) — i t—t¢t
Y200 = v (wzltd o)~ coson) g sino D)
y3(0) = yat (msin(wgt) ~ cos(wat) ~ o sinfoa(t - 1)
Viot(t) = Vy1(0)? + y2()2 + y3(t)2
A yall dasia pe Al hagyd Ja ¥
0<t<ty
Vo Vst : td —t
y1(t) = (yo — ¥st) cos(wqt) + | — + sin(wqt) + yst
(,01 (Dtd td
Vo Vst ) tg—t
y2(t) = (yo — ¥st) cos(w,yt) + | — + sin(w,t) + st
w,y; Wylg tq
Vo Vst ) tg—t
y3(t) = (yo — yst) cos(wst) + <_ + >51n((o3t) + Vst
w3 w3ty tq
Viot(®) = /y1(£)2 + y2()2 + y3(t)?
tg <t
Vv
y1(t) = (yo — yst) cos(aqt) + (—° 4 st )sin<w1t) — 5t Sinfw, (t - tg)]
(‘;)1 w1ty w1ty
y2(t) = (vo — ys0) cos(w,t) + (—" st )sin<w2t) ~ I infw,(t— to)]
%)2 0;,2 d ugzztd
3(t) = (yo — )+ (— St)' t) ——— sin[w;(t -t
Y3(0) = (o = yau) cosest) + (G + o sin(est) — - sinfg (t— £)]

Vior() = Vy1(D)2 + y2(D? +y3(D)?
ol lginay At ) DLFmaxd eV Swlial) Dgaall dole cla aldle -
:DLFmMax, jsaie

vA 1
DLF.x =1— < cos(2mz) + Hsm(an)

——

Yo

'




DLFnax (tot) = \/3(DLFmax)2

0 voTy 1 . 1
Frhaxl ( 1) cos(2mz) + <21TYst + an) sin(2mnz) — - sin[2(z — x)]

voT, 1 . 1
Fihax2 (— — 1) cos(2mz) + ( + 21TX) sin(2mz) oy sin[27(z — x)]

2my ¢
oz 1y . L.
Fnax3 = (; — 1) cos(2mz) + (2 — + an) sin(2nz) — 2—1szm[211(z —x)]

DL Fmax (tot) — \/(DLFmaX )2 + (DLFmax )2 + (DLFmaX3)
el Gajill 3 Te3um Gl b die Alal) 53 dualall dbaiill daayl) cilide
cliie Alle JC8 duaas Agan Ula daay -4-4
.od;\\g‘\.\“);‘\a\)duhduu.‘. ..LJJ.\A“.ILIAJSM.\M Ugas A -4-4-1

tigalgll —
—Inputs Fo —Inputs for { y(t) & t Diagram )
K fkn/my) = - #1 (sec) =
l';T t2(sec) =
mikn.sec2/m) = Fo B Y .
=i dt =
v0 (misec) = 0 T & Tt plot
y0 {m) = 1
08
10 (kn) =
y(= m 06
id (sec) =
0.4
DLF =
t(sec) = 0.2
Do Show (td/T & DLFmax diagram ) % 0z 04 06 03 i

Baaly Ay A el Alay B 850 Aliie Al JSG i) Apday Agas Ula 4gals:(4-10)Jsid
tlghiaay ot Al Llaauy) e -
A all dagana Al gyl Il A *
0<t<ty

1
YO =y (é - oo_tdSin(wt)>

tg <t

sin[w(t —tg)] _ sin(wt))

(,l)td (.l)td

y(®) = yst (COS[(D(t —ta)] +




y(t) =y, cos(wt) + (

Vo
() = yo cos(wt) + (= -
n Vst
wty

yit ) sin(wt) + yg; cos[w(t — tg)]

Vo Yst ) . t
_—— sin(wt) + —
® oty (wt) Vst

d

sinfw(t —ty)]

0<t<ty

tq
g <t

o) lginay e Al DLFmaxd el Sl dgaall e cla e -

DLFax = &COS(ZT[Z) + (

st

DLFax =

Z
— — ——sin(2mz)
X 27X

voT

:DLFmMax, jaie

1

2my

N sin[2m(z — x)]

_ 2111X> sin(2mz) + cos[2m(z — X)]

21X
gl el 5 coAm Caldll b dige Alall o3¢y Lalall Lluaill daayl e

- Oty ) A Ml Alle (S A Ages Ala -4-4-2

FO

ki

I

]

Ul

I

gl —




~ Inputs 2(Pulse Properties)——
vl (m/sec) =
— Output:
¥ (m) =
0 (k) =
— Inputs 1(Frame Properties)
td {sec) =
k1 (knim) = ¢ (sec) =
k2 (knim) = yitm) = DLF T =
mrifkn.sec2/m) = v2 (m) = DLF 2 =
— Inputs for { y(t) & t Diagram )
m2{kn.sec2/m) = _
1 (sec) = yiot(m) = DLF tot =
ht =
) 12 (sec) =
h2(m) = gt = l Show DLFmax
Number of Spans l Plot ]

ity ) ga 3yisa Aliia g.ﬁla JE @ld &,,vaa.: ;UJAA PPN 1@;\3 :(4-11)‘}5&1‘

0<t<ty
t 1
Y1) = ya (G Sy Sln(wlt)>
t 1
y2(t) = yst (a — 0,0 Sm(wzt))
Vot () = vy1(D? + y2(1)?
g <t

yl(t) =y (cos[w (t—ty)] + sinfo; (t—ta)] Sin(oolt)>

w1ty w1ty

y2(t) = yst (Cos[wz(t —t)] + Sm[w(f)i::; = B Sll(;)zt)>

Viot () = Vy1(D2 + y2(t)2

0<t<ty
y1(t) =y, cos(w t) + (& _ st )sin(oolt) + ysti
w (,1)1td td
y2(t) =y, cos(w,t) + (E _ st )sin(oozt) + ysti
Wy Wty tq
Yeot(D) = Vy1(D)? + y2(1)?
tg <t




Vst
w1ty

\
y1(t) =y, cos(w;t) + w—o - ) sin(w;t) + ys cos[w; (t —tg)]
1

+ Vst sin[w; (t—td)]
wq1q v
Y2(0) = o c08(w20) + (=2 = =) sin(w,0) + Yar cos[w, (¢ — t)]
y Wy  Wyly
+—=""sin[w,(t —t
S sinloy(t— t)]
A lginay atie ) DLFmaxd adie¥l Sl gl dole Gla cl®le -
:DLFmMax, Jsia
vA 1
DLFmaX = ; — mSll’l(Z‘l’[Z)

DLFmax (tot) = \/Z(DLFmaX)Z

DLF .1 = &COS(ZT[Z) + (VOTl — ! )sin(an) + cos[2m(z — x)]
e Vst 2Tyse  2TX
N sin[2m(z — x)]

271X

DLF .42 = &COS(ZT[Z) + (VOTZ - ! )sin(an) + cos[2m(z — x)]
max st 2y, 2TX
N sin[2m(z — x)]

27X
DLF ax (tot) = \/(DLFmaxl)z + (DLF pax2)?

p Aliadil) A yll Qe -

o) Gl & ded.m calal 8 dgse Allal) 03¢y dalad) dduaiill daeyll e
Grlshall A0 W) B e Alle JSdy A Agan Ala -4-4-3
so (LT T T T T
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tdgaldll —

F(t)

— Inputs 1{Frame Properties)
7'
K1 (knim) = mikn.sec2/m) = by = I(r) s,
k2 (kn'm) = m2(kn.sec2/im) = h2 (m) =
— Output
Number of Spans m3(kn.sec2/im) = h3(m) =
Inputs 2{Pulse Properties)————— ~Inputs for { y{t) & t Diagram }—
yiim = DLF1 =
v0 (mysec) = td (sec) = t1 (sec) =
= 2(m) = DiLF2=
yo (m) = t(sec) = 12 (sec) = vz (m
- y3 (m) ) e
0 (k) =
’ Plot | v tot (m) = DLF fot =
I Show DLFmax

Galshal) I ) B B ise e Al JS @l Audagt Agan Alla Agaly :(4-12)Jsad

iy i o Alaia) CDle -

O0<t<ty
1(t) = L sin(wgt
yIO =ys| o~ o, SN0t
2(t) = - —sin(,t
y2(t) = yst ty 0yl sin(w,t)
3(6) = t 1 ¢
Y30 = o -~ S sinCosd)
Viot () = \/yl(t)z + y2(t)? + y3(1)?
tg<t
sinfw,(t—tg)] sin(w;t)
y1(t) = ys (cos[wl(t —ta)] + w1ty gty
- sinfw,(t—tq)] sin(w,t)
y2(t) = Yt (COS[(’OZ (t—ta)] + w,ty wyty
~ sinfwz(t—tgq)] sin(wst)
y3() = Vst (COS[“’S(t ta)l + w3ty w3ty

Viot () = Vy1(D2 + y2(D)2 + y3(t)2

Al agina e Al Lagyd Jla 6 ¥
0<t<ty

VY

——
| —




y1(t) =y, cos(w t) + (E _ st )sin((olt) + ysti
w; Wty tq
y2(t) =y, cos(w,t) + (E _ st )sin(wzt) +y ti
Wy Wyty g
Vo Vst ) t
y3(t) =y, cos(wst) + (oo_3 — oo:td) sin(wst) + YStG
Viot(® = Vy1(D2 + y2(D)2 + y3(t)?
tg <t
VO YSt .
y1(t) =y, cos(w,t) +|—— sin(w;t) + yg¢ cos[w, (t — tg)]
w1 Wty
Vst
t—t¢t
+ o sinfo (0 )]
V0 YSt .
y2(t) =y, cos(w,t) + (— " sin(wzt) + yst cos[w, (t — tq)]
2 2tq
Vst .
+ oo:td sin[w, (t — tg)]
Vo Vst )
y3(t) = yo cos(w,t) +(—— sin(wst) + yg cos[wz (t — tg)]
w3z w3ty
Vst

sin[w3 (t — tq)]
w3ty

Viot(®) = Vy1(D)2 + y2(D)2 + y3(t)?

o lginay die ) DLFmaxd) e Sl dgaall dole cla aldle -
:DLFmMax, jsie
1Al G gane Aoyl Jagyd Jla b ¥

Z 1
DLFmaX = ; — mSin(ZTEZ)

DLF pax (tot) = \/3(DLFmax)2

DLF .41 = &COS(ZTEZ) + (VOTl — ! )sin(an) + cos[2m(z — x)]
max st 2Myse  2TX

N sin[2m(z — x)]
27X

DLF .42 = &COS(ZTEZ) + (VOTZ — ! )sin(an) + cos[2m(z — x)]
e Vst 2Tyse  2TX

N sin[21(z — x)]
21X

YY)

——
| —




Yo VT3

DLF .43 = —cos(2mz) + (
e st 2Ty s

N sin[2m(z — x)]

271X
DLF max (tor) = V (DLF 03 12 + (DLF 0, 2)% + (DLF043)2
tdliadill daa ) e —
el sl A Tedm calall 3 dine ) 03 Aaldll Aluadil) gl Gl

_ 2111x> sin(2mz) + cos[2m(z — X)]

Loadlite Ajia (;.'sﬂ.ads.uu" duay ddgaa Ul daayp -4-5
galsll —

—Inputs for { y{t) & t Diagram }

—Inputs

A Fitly H =
k (knim) = (sec)

t2(sec) =

mikn.sec2/im) = Fo

i‘bi ="
(1) I dt =
vl (m/sec) = -t

0T ta taz plot

yo (m)=

1

0 (kn) =
08
21 (seg) =
06
y()= m
22 (sec) =
04

t{sec) = DLF =
02

Do ) ) ) ) |
‘ Show (td/T & DLFmax diagram ) % 0.2 0.4 0.6 0.8 1

Banly A Aags i Alea B 5 (aBlite Aia e JS& 3 s Algas la Agaly: (4-13) L
0<t<ty

t 1
t) = —— in(wt
y(©) = v (tcn G ))

sin(wt) N sinfw(t—tgy)] sinfw(t—tg;)] t—tgs )

wty, wtyy w(tgz — tg1) taz — ta1
ty, <t

y(t) = yst (1 -




{—sin(wt) + sinfw(t — tg)]}
y(t) = YSt<

wtdl
N {sin[w(t —tgq;)] — sin[w(t - tdz)]}>

w(tgz — tar)
S jall Lagina e AT gyl a3 ¥
.0 S t S tdl
Vo Vst ) . t
t) = D+ (= - )+ yor—
y(t) = yocos(w.t) (w ota; sin(wt) + ys; 0
gy S <ty
y(0) = yocos(wt) + (E _ s )sin(wt) + 5 ginfw(t — tg)]
w (L)tdl wtyq
Yst . gy —t
sinfw(t —tqy)] +
0 (taz — taq) @ Vst taz — tas
gy <t
Vo Vst ) : Vst .
t) = )+ (— - t) + t—t
(0) = yocos(wt) + (3~ =) sin(wt) + =E-sinfe(t — ty;)]
Vst : Vst :
sinfw(t—tgy)] — sinfw(t — tgy)]
0 (taz — taq) a w(tgz — ta1) 1

ao) lginey i ) DLFmaxd) oalie¥l (Spelpad) dpeall e lua clidle -
:DLFmMaXx, Jaia

tg 1 : td e - ] : ,
X = ;d<5;tdz=td «ie:td1=;dﬁ‘\5)=ﬂ“-°jm“é3‘i‘=’”@ﬂd5@*

2 . X . .
DLFhax = o (Zsm [211(2 - E)] — sin[2n(z — x)]| — sm(an))
tg 1

= — > —
X= 7773

DLF . = 2|1 — z + 2sin [2“ (Z B 2)] B sin(2mz)

21X 21X
pdhuadl]) daapll Qe -
.CAJAS\ ua)ﬂ‘ @ cch.m <l ‘; :%_{..1.1.‘\ Al a..lg_) Laldll M\ A\AA‘).\J\ Olde




- Onlallay ) B g GaBlite Mfia Alla (S8 Ay Ages Al -4-5-2

—Inputs 1{Frame Properties)

i1 (knim) =

K2 (knim) =
mi{kn.sec2im) =
m2{kn.sec2/m) =

i (m) =

h2 (m) =

Number of Spans

£, BAREVAVASRRRY [VRRRRAIRANANY

ki ka

Aath Ny Gy )

v0 (misec) =
yo (m) =
0 (kn) =
101 (sec) =
1d2 (sec) =

tfseg) =

—Inputs 2{Pulse Properties)—

— Output:

tdgalsl —

yi(m)=

 Inputs for { y{t) & t Diagram )
1 (sec) =
12 (sec) =

ot =

yz(m)=

yilot(m) =

DLF1=

DiLF2 =

DLF tot =

Show DLFmax

[ Plot |

iy ) B 5 5a (aBlila Mt (Aa JS5 i dpn Algan Alla galy £ (4-14) 0

y1(t) = yst (1 -

t
yl() = YSt<

sin(w;t)

gy i o2 Alain) e -

ta1

t
y2(t) = YSt< -

ta1

wyty1

Viot(® = Vy1(D?2 + y2(t)2

sin[wy (t — tg1)]

1
I t
orta, sin(w, ))

sin(oozt)>

.OStStdl

'tdl S tS tdz

sin[w; (t — tgq)]

w1tqq

w1ty

yY¢

——

'

1

t—tyy )
W (tg2 — tq1) taz — ta1




y2(0 = v (1 _ sin(w,t) N sin[w, (t — tgy)] N sinfw,(t—tg))]  t—tg )

wytyq wytyq wy(tgy —ta1)  taz —ta:
Yeot(©) = Vy1(D? + y2(1)?

gy <t

y1() = v, <{—sin(w1t) + sin[w, (t — tg1)]} N {sin[w; (t — tq1)] — sin[w, (t — tdz)]}>

w1ty w; (tgz — tar)
{—sin(w,t) + sin[w,(t — tg)]}
y2(t) = YSt< - S
wotyq
+ {sin[w, (t — t41)] — sin[w, (t — tdz)“)
wy(tgz — tas)
Yot (D = Vy1(D? + y2(t)?

.0 S t S tdl
\% t
y1(t) = yocos(w;.t) + (—0 _ Jst )sin(oolt) + Yo —
W,  Wetyq t(;iL_l
Vo Yst .
2(t) = yycos(w,.t) + (—— )sm(u) t) + —
y2( Yo 2-1) w,  wtes 2 Yst te
Yeot(©) = Vy1(D? + y2(1)?
gy St <ty
Vo Yst . Yst .
1(t) = t) + (—— ) t) + t—t
y1(t) = yocos(w;t) w;  otes sin(w;t) ©; fgl Sln[t(01( da1)]
Yst . d2 —
sinfw,(t —tgy)] + Yo ———
w1 (tgz _‘Ed1) ! a1 Vst taz — ta1
y2(t) = yycos(w,t) + (—0 L )sin(u)zt) + Vst sin[w, (t —tgy)]
Wy Wylyq 2 €1 )
Yst . d2 —
sinfw,(t—tg)] + Yo ————
wy(tgx — tar) ? a1 Vst taz — ta1
Vot (D) = Vy1(D?2 + y2(D)?
Sty <t
\%
y1(t) = yycos(w t) + (—0 L )sin((olt) + Vst sinfw, (t — tgq1)]
y W1 W1lgq 1 di’
st . st .
sinfw, (t —tg,)] — sinfwq (t — tg,)]
w1 (tgz — tq1) ! a1 w4 (tgz — tq1) ! az

Vo Vst Vst

2(t) = t) + (——
y2(t) = yocos(w,t) ©, oo
Vst Yst

wy(tgz — tar) sinfo (t = ta)] = wy(tgz — tar)
Yeot () = Vy1(D? +y2(D)?

) sin(w,t) + = sinfw (t = tg,)]

sinfw, (t — tgz)]

VYo

——
| —




o lginay At ) DLFmaxd eV Swlidl) dgaall ddle cla aldle -

:DLFMax, Jaia
X = 2 <2 aal dayiea A8 Lagyd Jla 3 0
2 X
DLFmaX = 2_1'[X 2sin [21’[(Z — E)] — SiIl[ZT[(Z - X)] - Siﬂ(ZT[Z))
tg 1
= — > —
T2

7z 2sin [211 (z - g)] B sin(2mz)

DLF =2|1—-
max X T 27X 27X

DLF pax (tot) — \/Z(DLFmax)z

Ll daapll B —

el Gall 8 de5.m il b dse Al s3¢) aldll dluadill dnapll Bl
sk (A5 ) b s (alliia Mlfia (ilie Sy A Ages Al -4-5-3

ol LTV T T

R e

F(o)
A
 Inputs 1(Frame Properties):
k1 (kim) = mi(kn.sec/m) = h(m) = Fo f
k
f(7) T
k2 (knim) = m(kn.sec2/m) = h2 (m) = - >t
tar ta2
— Output.
Number of Spans  m3(kn.sec2im) = h3 (m) =
r Inputs 2{Pulse Properties). —Inputs for ( ¥(t) & t Diagram }—
v0 (misec) = toi1 (sec) = 1 (sec) = yi(m)= DLF1=
yo (m) = td2 (sec) = t2 (sec) = y2(m)= DiF2=
0 (k= t(sec) = dt = y3(m) = DLF3=
I Show DLFmax

D U] B 8jEe (ablita e Ale JSE 3 Tpda Algas Al dgaly :(4-15) 8




ey i A L) e —

0<t<ty
y1(t) = Yst< S Sin(w1t)>
tagr  w1tgs
y2(t) = YSt< L - Sin(ﬂ)zt))
tar  watgr
y3(t) = YSt< L - Sin(w3t))
ta1  watgs

Vot () = Vy1(D? + y2(D)% + y3(D)?
gy St <tg,
1 sin(w;t) n sinfw;(t —tgqy)] | sinfw;(t—tg1)] t—tg

y1(t) =y -
) w1tg w1tgy wq (tqz — ta1) taz — ta1
200 . sin(w,t) N sinfw,(t —tg1)]  sinfw,(t —tgq)] t—tgy
y = ¥st - -
® wytqq wytqq wy(tgz —tq1)  taz —tas
3(0) 1 sin(wst) + sinfws(t —tgy)] | sin[wz(t—tq1)]  t—tqy
y = ¥st - -
® w3tqq w3tqq w3(tgz —tq1)  taz —tas

Viot () = Vy1(D? + y2(D)2 + y3(t)2
gy <t

y1(0) = v <{_Sin(®1t) +wii:1[1031(t —ta]}
{sin[w; (t — tq1)] — sinfw, (t — tdz)]}>
+
w1 (tgz - tas) _
0O 4o ({—sm(wzo - ?tr;[le(t - ta)])
n {sin[w, (t — tg;)] — sin[w, (t — tdz)]}>

wy(tg2 — tq1)

y3(0) = yer <{_Sin(®3t) +w3itn[0)3(t —tap1}
34d1
{sin[w;(t — tgy)] — sin[wz(t — tdz)]}>
+
w3 (tgz — tar)
Yior( = Vy1(D? + y2(D? + y3(1)?

YYV

——
| —




0<t<ty

y1(t) = yycos(w;.t) + (—VO _ st )sin(wlt) + ysti

(OVE] (1)1td1 t(%l

Vo Vst .
2(t) = .t +(—— ) ) + Vo, —
720 = yoslop )+ (G =)o) + vt

Vo Vst .
3(t) = .t +(—— ) ) + Vo, —
300 = yocos(es. ) + (5~ 21 )sin(ost) + v

Viot () = Vy1(D)2 + y2()2 + y3(t)?
g St <ty

VO YSt . YSt .
1(t) = t) + (—— ) t) + t—t
y1(t) = yocos(w;t) w;  otes sin(w1t) 001tg1 Sm[t(kh( a1)]
Vst . d2 —
sinfw,(t—tg)] + yo¢ ——
w4 (tgz _‘Ed1) ! a1 st taz — ta1
y2(t) = yycos(w,t) + <—0 L )sin(wzt) + Vst sin[w, (t —tgy)]
Wy  Walyq wWolgq
Vst tgz —

sinfw, (t —tg)] + ysg ————
w,(tg2 — tq1) gz — tas

\%
y3(t) = yycos(wst) + <—0 L )sin(wgt) + Vst sin[w;(t—tgy)]
w3  W3lyq 3 €1 X
Vst . d2 —
+ sinfw;(t —tg)] + Yoo ———
w3 (tgz — tq1) 3 a1 Vst taz — ta1
Viot()) = y1(D? + y2(D)2 + y3(1)2
. tdz < t
'
y1(0) = yocos(wqt) + (—0 _ st )sin(oolt) + I sin[w, (t— tg))]
y W1  Wtgq 1 di’
st . st .
sinfw,(t —tg,)] — sinfw{ (t — tgy)]
w (tgz — t‘;u) v ! a1 ®1§,td2 — tq1) ! az
2(t) = t+<—0— St)' t) + =L sj t—t
y2(t) = yocos(w,t) ©, oty sin(w,t) Wqtay sin[w, ( au)]
Vst Vst

w3 (taz — ta1) sinfo (t = ta)] = sinfw; (t — tqz)]

\%
Y30 = yocos(ost) + (== ==

y 3  W3lyq }
st . st
sinfw;(t —tqy)] —
w3(td2 - tdl) 3 d 003(td2 — t4q1
Viot()) = V/y1(D2 + y2(8)2 + y3(1)?
ay lginay i Al DLFmaxd adaell Sl dgaall hle cla al®le -
:DLFmax%_x;_u

Wy (tg2 — tq1)

ISt sinfoos (t — tg1)]
3td1

) sin(wst) +

) sinfw; (t — tgp)]

YYA

——
| —




tq 1 tg

X=T<§ s bty =t td1=E
2 . X . .
DLF 2k = - 2sin [ZTT(Z — E)] — sin[2m(z — x)] — sin(21z)
ty 1
= — > —
TT72

DLF, . =2|1— z N 2sin [21‘[ (z — g)] ~ sin(2mz)

21X 21X

DLFnax (tot) = \/B(DLFmax)z
. geal) ol st Tchm & e Al sl Aaldll Aluadil) Aoyl Gldde
- Baaly fupm At 3 Alea b 8 (iions JS2 nd Ugan Alla -4-6-1

tdgalsl —
—Inputs —Inputs for { y({t) & t Diagram )
F(t) Fiy
i1 (sec) =
k (knim) = ]
m
— 2 =
EW f(T) iy t2(sec)
m{kn.sec2/m) = =ik
= me
v (m/sec) = 0 T ts t plot

¥0 (m) = !

08
0 (kn) =

y(= m 06
#d (sec) =

04

t(seg) = DLF = 02

Do . 0 . . . . ,
Show (td/T & DLFmax diagram ) 0 02 0.4 0.6 08 1

5aaly s Aoy il Alay (g 85pe dpbiens JS 3 A Apan Alla gy £(4-16) 52
iy i o3 BlainY) e -
A Fagane Al gy Jla %
0<t<ty

y(©) = ys(1 — cos(wt))
g <t

y(©) = ysi(cos[w(t = tg)] — cos(wt))
Al dagina ye dbluid lagyd Jla b ¥
0<t<ty




A%
y(®) = (o — yst) cos(@t) + —sin(wt) +ys,

g <t
\Y%
y(©) = (o — yso) cos(wt) +—sin(wt) +ys coslw(t — ta)]

o) lginay i Al DLFmaxd el Sl dgaall e ol e -

:DLFmMax, jsia
DLF,.x = cos[2m(z — x)] — cos(21z)
Al Ragiee e AN Loyl Jla b *
\Z i\
DLF . = (}}:—0 — 1) cos(2mz) + > 0

st Ty st

sin(2mz) + cos[2m(z — x)]
tAladill daayll GlEe —
edall (el 3 cCB.M bl 8 Lie Aa)) 03 Aualil) dduaiill daayll e
Osallay ) (b 5 (e (8 dplasd Agas Alls -4-6-2

ki ke ke k

rdgaldll —
F
© i —Inputs 2{Pulse Properties)——
" vi) (m/sec) =
L@
ik y0 (m) = — Output
o - 1t 0 (kn} =
—Inputs 1{Frame Properties) td (sec) =
t =
K1 (kn/m) = =3
K2 (knim) = yi(m= DLF1 =
mitkn.sec2im) = y2(m) = DLF2 =
— Inputs for { y{t) & t Diagram )—
m2(kn.sec2/m) = y tot (m) = DLF tot =
t1 (sec) =
ht (m) =
12 =
(sed ’ Show DLFmax
h2 (m) =
ot =
Number of Spans
\ Plot |

sl s} 8 5 pa aliins JS 3 Apias Algas Al Agaly :(4-17)J8i)

VY

——
| —



i atie ) Ll clBle -

0<t<ty
y1(t) = yse(1 — cos(w,t))
y2(t) = yst(1 — cos(w,t))
Viot (D = Vy1(D)2 + y2(t)2
tg <t

yl( = ySt(COS[(’O1 (t—tg)] — C05(001t))
y2(0) = Yst(cos[wz (t—tg)] — COS((th))
Vot (D) = Vy1(D? + y2(D)?
HGall Fasiee e Ao Lgyd Ja b ¥

0<t<ty
A%
yL() = (7o — yst) cos(ent) + —sin(w;t) + s,
1
A%
y2(t) = (7o — ¥st) cos(wt) + —sin(w,t) + st
2
Yior(£) = VY1(D? +y2(D)?
g <t

'
y1(t) = (yo — ¥st) cos(wyt) + w_OSin(031t) + Y5t cos[wq (t — tq)]
1
v
y2(t) = (Yo — ¥st) cos(wzt) + w_OSin(U)zt) + Y5t cos[w, (t — tq)]
2

Yot () = Vy1(D? + y2(t)?
aol lginay At ) DLFMax) oake¥)  Sodlidl) dlgaall Jule lia clde -
:DLFmMax, jaie
3Gl dagine A1) byl Jla 3 ¥
DLF .« = cos[21(z — X)]| — cos(2mz)
DLFmax (tot) — \/Z(DLFmaX)Z
1S )all dagama e Al Jag i Jls R

Vo T
DLF <1 = (y—o — 1) cos(2mz) + 2; L

Yst

sin(2mz) + cos[2T(z — x)]

Vg. T
DLF 242 = (y—o — 1) cos(2mz) + 2‘(1)1 2

st st
DLFnax toty = v (DLFax1)2 + (DLF 0,.2)2
ceaal) (el 3 deB.m calall b dgee Allal) s3gs dualall dluadill Aol e

sin(2mz) + cos[2T(z — x)]

YY)

——
| —



sl I ) & 38 bt JS Auiad Algas Alla -4-6-3
o [T

F(t) Fing

o

—Inputs 1{Frame Properties) FL_to) 2
=ik

kT (knim) = mi(kn.sec/m) = hl(m) = 1

o R
k2 (knim) = m2fkn.sec2/m) = h2(m)= — Output
Number of Spans 34 sec2im) = B3 () =
—Inputs 2(Pulse Properties) — Inputs for ( y(t) & t Diagram ) yim = DERS
¥0 (m/sec) = td (sec) = #f (sec) = y2 (m) = DLF2 =
12 (sec) =
Yo (m) = t(seq) = y3(m) = DLF3 =
ot =
0 (kn) = yitotim) = DLF tot =
[ Plot ]
I Show DLFmax ]

Gilshal) G Ul B 85ipe Jiiius JS i Apa Algan Alla Agaly :(4-18)Jsal

 ginays i 3 Glain) cle —

0<t<ty
y1(t) = ys(1 — cos(w;t))
y2(t) = ys(1 — cos(w,t))
y3(8) = ysr(1 — cos(wst))
Viot(®) = Vy1(D)2 + y2(D)2 + y3(t)?
tg <t

y1(t) = yse(cos[w; (t — tg)] — cos(w;t))

y2(t) = yse(cos[w, (t — tq)] — cos(w,t))

y3(t) = yse(cos[wz(t — tq)] — cos(wst))
Viot(D = Vy1(D? + y2(D)2 + y3(1)?




0<t<ty
Vv
yL(t) = (7o = ¥se) cos(wrt) + —=sin(wt) + s
1
Vv
y2(t) = (7o — ¥se) cos(wzt) + —>sin(wat) +ys.
2
A\
y3(t) = (yo — yst) cos(wst) + w_OSin((Dat) + Vst
3
Viot(t) = Vy1()2 + y2()2 + y3(t)2
g <t

VvV
y1(t) = (Yo — Ysp) cos(w;t) + w—°sin<w1t) + g cos[o; (t — tg)]
1
VvV
y2(t) = (Yo — ¥st) cos(w,t) + m—° sin(w,t) + ys cos[w, (t — tq)]
2

VvV
y3(0) = (yo — Ysp) cos(wst) + w—°sin<w3t) + Yot cos[ws (t — tg)]
3

Vior () = VyL(O? +y2(D? +y3(D)?
o) Linayn Le ) DLFmaxd) ey Kbl fgaall dile Gl aldle -
:DLFmMax, jaie
DLF .« = cos[21(z — X)]| — cos(2mz)
DLF pax (tot) = \/3(DLFmax)2

Yo vo- Ty

DLFax1 = [— — 1) cos(2nz) + sin(2mz) + cos[2m(z — X)]
Vst 2Ty st
Yo vo- Ty

DLF 242 = [— — 1) cos(2mz) + sin(2mz) + cos[2m(z — X)]
Vst 2Ty st

V. T
DLF, .3 = (& - 1) cos(2mz) + 2; >

st st
D]-‘Fmax (tot) = \/(DLFmaxl)Z + (D]-‘Fmaxz)2 + (DLFmaX3)2

el (sl 8 TCB.M il 8 Aiase Al o3y Aalal) Aduaiil] daa ) e

sin(2mz) + cos[2T(z — x)]

YYY

——
| —




—Inputs

k (knim) =
m{kn.sec2/m) =
vl (misec) =
yo (m) =
0 (kn) =
id (sec) =

t(sec) =

F(D)
Fitiy
m
= f(7) T
=0
— ¢
yig= m

DLF =

2ipa S8 duayt Agan s daayp -4-7

‘ Show (td/T & DLFmax diagram )

0

. Baaly s A s Q\Sﬂa@éﬂ" R JSdy duay ddgas A -4-7-1

: dgaldll —
—Inputs for { y(t) & t Diagram )
i1 (sec) =
t2(sec) =
ot =
plot
UTZ 0,‘4 0,‘5 UTS ‘II

- Baaly A Ay ) Alay B e s IS4G @l Apdayd Agan Alla Agaly :(4-19) s
e (Sl Aganll dele luay Akl G ALY cla Gl
luadill daayd) G 5 ¢Julaivead) JLEI 3 dumnil) 4 ganll el ABiles 4ansys DLFMaxJ

-

£(1)

3 L) S

—Inputs 1{Frame Properties)

K1 (knim) =

K2 (hnim) =

mifkn.sec2/m) =

m2{kn.sec2/m) =

bl (m) =

h2 (m) =

Number of Spans

cedal) (il ce7.m il 8 A Alall o3g dalal)
Oty Sl A 5 e J0y dpdad Adgas Alla -4-7-2

— Inputs 2({Pulse Properties)
v (mysec) =
o (my =
0 (kn) =
td (sec) =

i (sec) =

— Inputs for { y(t) & t Diagram )}——
t1 (seg) =
12 (sec) =

ot =

[ Plot ]

yYe

R e

— Output
vim = DLFT =
v2(m) = DiF2 =
yiot(m) = DLF totf =
l Show DLFmax

Sl ) (B 850 gope JSE 1D Apidayi Alges Alla dgaly :(4-20)Jsdd

——
| —



geal

sl & de7.m Gildl b dise Aa b3 Gualdll Aduadill dnel) Gl

ilitons (K2 Auagl Algeal) Alla 3 el ABLes
Gilshl) (G ) (B 5 aupe ISy Lpday Adges Al -4-7-3

—Inputs 1{Frame Properties)
k1 fknim) = mifkn.sec2im) = h1{m) =
k2 fknim) = m2{kn.sec2/im) = h2(m) =

Number of Spans
m3{kn.sec2/m) = h3(m) =
—Inputs 2{Pulse Properties) —Inputs for { y(t) & t Diagram }—

vl (m/sec) = td (sec) = # (sec) =
2 (seg) =

yo(m) = t(sec) =

dt =
A | Plo

—Inputs

F(t)
Ffll‘
m
;.i‘:k
— ¢
— Output
vi(m = DLFf =
y2(m)= DLF2=
y3(m = DLF3 =
ylot(m = DLF tot =

Al -

I

Show DLFmax

N ) B35 mape JSG ) A Agas Ala Agaly :(4-21) g8
Py gl papll & Te7m aldl 8 dipe Al o3y dalall Lluadll daanll Clile

cJabaine G dpaill A gealdl Als 4 B Aliles
oadlite paliea JS60 dudayl Agas Al daay -4-8

BSaaly L Ao cld ey B i (adliie palies Sy Ay Algas Alla -4-8-1

K (knim) =
mikn.sec2im) =
v0 (misec) =
yo (m) =
0 (k) =
11 (seq) =
12 (sec) =

t(sec) =

F(),

yg=

DLF =

‘ Show (td/T & DLFmax diagram )

—Inputs for { y(t) & t Diagram }

tdgalsl —

t1 (seg) =
t2(sec) =
ot =
plot
5
0.8
0.6
0.4
0.2
DU U.‘E U.‘:l UjE UjB 1‘

yYo

——
| —



i atie ) Ll clBle -
0<t<ty

y(t) = ys(1 — cos(wt))
tgy St<ty,
t—tyq sin[w(t — tdl)]>

(t) = (1 - — cos(wt) +
Y Vst taz — tas w(tgz — tq1)

gy <t

y(© =y (—cos(wt)+ sin[w(t — tqs)] sin[m(t—tdz)]>

w(tgz — tar) w(tgz — tar)
.0 S t S tdl

\Y%
y(©) = (7o — ys)cos(@t) +—sin(wt) + s

Vo . Ysesin[w(t — tqq)] tgp —
(t) = (yo — ysp)cos(wt) + —sin(wt) + —_—
Y Yo~ st w w(tgz — ta1) *taz — tas
tgy, <t
Y(®) = (7 — ysDcos(@t) +—sin(wt) + ———sin[w(t - ta;)]
y w w(tgz — tq1)
st .
— sinfw(t — tgy)]
w(taz — taq) a2
o lginay die ) DLFmaxd) e Sl dgaall dole cla aldle -
:DLFmMaXx, Jsie
DLFyay = 1 =~ — cos(22) + ———— sin(2n(z — X))
max = A cos(Zmz 21T(A_X)sm m(z — x
Vo voT sin[2n(z—x)] A—z
DLF =(—-—-1 2 2
max (Yst )cos( z) + Vo 2m sin(2mz) + 2nA— %) + -
el Gaill 8 CCB.M alall 3 Aisse Allal s3gr Aualsll Gl adill daayll e
[ e )



 Inputs 1{Frame Properties)——

ki (knim) =
K2 (knim) =
mifkn.sec2/m) =
m2{kn.sec2/m) =
b (m) =
b2 (m) =

Number of Spans

Calallay ) 8 A (allila jales JSdy dpay dgea Al -4-8-2

o, [T

Hlyll I
RORENNNNN 10Ny 1NORNDRERNNRN
ki ko ko k

Aath Ny Gy )

r Inputs 2(Pulse Properties).

vl (misec) =

¥O (m) = ~ Qutput

P dgalsll —

0 (kn) =
td1 (sec) =
td2 (sec) =

t(sec) =

Inputs for { y{t) & t Diagram )—

yi(m)=

y2(m)=

t (sec) =

ytot(m) =

DLF1 =

DLFZ =

DLF tot =

12 (sec) = I

Show DLFmax

dt =

iy ) (6 8 a oaBlita jaiana S 3 Apasi Alpan Alla Agaly :(4-23)JS8)

y1(t) = yst (1 -

t—ty
y2(t) = ygt (1 - t—l

iy i o3 Blaiu) e -

y1(t) = yse(1 — cos(wyt))
y2(t) = YSt(l - COS((,OZt))

Viot(® = Vy1(D?% + y2()2

0 <t<ty,

'tdl S tS tdz

t—t sinfjw{(t—t
I os(ont) + [0, ( d1)]>
taz — ta1 w (tgz — ta1)
sinfw,(t—t
 cos(en, 4 L2 d1>]>
dz — ta1

Viot(® = Vy1(D?% + y2(t)2

Wy (tg2 — tq1)

tgp St




yl(t) =y (— cos(w;t) + sinfw; (t —tq;)]  sinfw, (t— tdz)])
- Jst 1

w1 (tgy — tgq1) w1 (tgz — tq1)
B B sin[w; (t — tgy)] B sinfw, (t — tgz)]
y2(t) - YSt < COS(th) + (Dz(tdz _ tdl) (1)2 (tdZ _ tdl) )

Vior(D) = Vy1(D2 + y2(b)?
.0 S t S tdl

\%
y1() = (o — ys)cos(@yt) + —=sin(w;t) + s
1
A%
y2(t) = (¥ — ys)cos(wzt) +—sin(w;t) + vy,
2
Yior(8) = VY1(D? +y2(D)?

g St <ty

Vo ysesin[wq (t — tqq)] tgy — t
100 = (y, — £) + — t) + —
y1(t) (Yo — yst)cos(w;t) ©; sin(w;t) w1([td2(_ tar) S st tay — tay
Vo YseSinfw, (t —tgy tgy — t
2(0) = (v, — ) +— t) + —
y2(t) = (yo — yst)cos(w,t) 0, sin(w,t) 0, (tay — tqr) Yst tap — ta
Veor (D) = Vy1(D)? + y2(D)?
gy St

Vst
w; (tgz — tas

Vo .
V(O = (0 ~ ys)cos(@t) + 2 sin(an) +
1
_ Vst
w(tgz — tas

Vo . Vst
2(t) = (v — yso)cos(w,t) + —sin(w,t) +
y Yo — Vst , 2 0y 2 0, (tay — tqr)
st

- Wy (tay — tay) sinfw, (t — tgz)]

Vior () = Vy1(H)2 + y2(1)?
o lginay die ) DLFmaxd eV Sl Dgaall dole cla aldle -
:DLFmMaXx, Jsic

) sinfw; (t — tgq)]

)sin[w1(t — taz)]

sin[w, (t — tg)]

DLFyay = 1 =~ — cos(2m2) + ————sin(2n(z — X))
max = Ay cos(Zmz Zn(A—x)Sm m(z — X
DLFpnax (tot) = v 2(DLFmax)?
Yo voTy . sin[2n(z —x)] A-—z
DLF.x1 = (— — 1) 2 2
max Ve cos(2mz) + _—r sin(2mz) + 2 A= %) + %
{ YFA }




DLF 2_( 1) (2m) + voT, . 2 )+sin[2n(z—x)]+A—z
max2 = (0= cos(2mz Vo 2m sin(2mz A — ) i x
DLFmax (tot) = \/(DLFmaxl)z + (DLFmaxz)Z
tiabuadil) daapll Gldde -
.G_u.d\ ol @ dc8.m Ll Lf e Al odg Laldl) Aliadi]) daayll e
o [T

R,

Yo

.7
L |
L
|
L |
L
|
|
L |

ANRRRNRNN AVORE AR RNRRRA

L g T

ki k3 k4 ki

— Inputs 1(Frame Properties)
kT (kn/m) = mifkn.sec2/m) = ht(m) =
k2 (kn/m) = mfkn.sec2/m) = h () =
— Output
Number of Spans m3i(kn.sec2im) = h3 (m) =
—Ihputs 2{Pulse Properties) ——— ~Inputs for { y(t) & t Diagram }—
v0 (misec) = td1 (sec) = o1 (sec) = yi(m)= DLFf =
¥0 (m) = tdf2(sec) = £2 fsec) = ¥2(m) = DLF2=
0 (kn) = t(seg) = ot = y3m) = DLF3 =
Do ] [ Plot yiot (m) = DLF tot =
l Show DLFmax l

Gl (35 ) B 5 e oalite jaienn S 1 g Algan Alla galy :(4-24) 05
iy i 2 AlainY) e -
A Fagane Al gy Jla %
0<t<ty,

y1(t) = yse(1 — cos(wyt))

y2(t) = yse(1 — cos(w,t))

y3(t) = YSt(l - C05(0)3t))
Viot(D = Vy1(D? + y2(D)2 + y3()?




gy St <ty

t—tyy sin[w; (t — tgy)]
1(t) = 1———cos(w;t) +
y Vst taz — tas ! w1 (taz — tar)
t—tq Sil’l[(k)z (t - tdl)]
2(t) = 1 ———cos(w,t) +
y Vst tgz — taz ? w2 (taz — tar)
t—tyy sin[w, (t — tq1)]
3(t) = 1————cos(wst) +
y Yst tgs — tas 3 w3 (tgy — tar)
Viot(®) = /y1(£)% + y2(£)% + y3(t)2
[ ] [ ] Sty St
sinfw,(t —tgqy)] sinfw,(t—tyg,)
1(t) = <— cos(wqt) + -
y Vst 1 w1 (tgz — ta1) wq (tgz — tar)
sin[w, (t —tq1)]  sin[w,(t — tgz)]
2(t) = <— cos(w,t) + -
y Vst 2 W, (tgz — taq) Wy (taz — tar)
J3(0) = y <_ cos(wat) + sin[ws(t — tg1)] B sin[w; (t — tgz)]
st 3 w3 (tgy — tq1) w3 (tgz — tq1)

Viot () = Vy1(D)2 + y2()2 + y3(t)?

0<t<ty
Vo .
y1(t) = (yo — ys)cos(w4t) + w_sm(ﬂht) + Vst
1
V .
y2(t) = (7o — ys)cos(wst) + —sin(wt) + ¥t
2
V .
Y300 = (¥ = ya)cos(w3) + L sin(w30) + Y
3
Vior()) = Vy1(D? + y2(D)2 + y3(1)2
tgr St <ty
Vo . ysesin[wq (t — tgqq)] tgp — t
1(t) = (yo — t) +— t) + —
VIO = (o = Yso)cos(rt) + - sinnt) o —ta) i
Vo ysesin|ow(t —tgq taz — L
2(0) = (yo — t) +— t) + —
y2(t) = (Yo — yst)cos(w,t) 0y sin(w,t) wz[(tdz(— tdl))] Uty — tag
Vo . YseSinfws(t — tg, tagz — ¢
3(t) = (yg — ysp)cos(wszt) + —sin(wst) + _
Y Yo Vst 3 w3 3 w3 (tg, — tq1) st taz — ta1
Viot() = Vy1(? + y2(D)2 + y3(t)2
gy <t
Y1(O) = (7o — ys0)cos(@;t) + —=sin(wyt) + ———sin[w, (t — tg;)]
W1 w (tqz — ta1)

Vst )
— sinfw, (t — tg,)]
wi(tgz — tas) ! a2

kX

——
| —




Vst
wy(tgz — tq1)

Y2(0) = (Vo = ys)cos(@;8) + = sin(wat) + sinfw, (£ = tar)]

Vst )
— sin[w, (t — tgy)]
wy(tg2 — tq1) 2 a2

Vo . Vst
y3(®) = (¥ yst)co;(wg) o, @3 +
st

" onCtay —taD) sinfw3 (t — tgz)]

Viot(® = Vy1(D)2 + y2(D)2 + y3(t)?

) sinfw3 (t — tgq)]

pol lgimay st ) DLFmaxd elaedl  Swlall Al dale Cles cldle -
:DLEmMax, jaie
Al dasime Aglay Loy i Jla & %

1
msin(Zn(z — X))
DLFmax (tot) = \/3(DLFmax)2

Al Aagima e Al Lags Jla 8 ¥

Z — X
DLF .x =1— e cos(2mz) +

DLE. 1= ( 0 1) (2n) + voTy . (21) + sin[21(z — x)] N A—z
maxl = |7~ cos(2mz _— sin(2mz 2mA =) A
Vo voT, . sin[2n(z—x)] A—z

DLF 2 =|——-1 2 2
max (Yst ) cos(2mz) + yo2m sin(2mnz) + 2A—%) + -
Vo voT; . sin[2n(z—x)] A—z

DLF .3 =|——-1 2 2
max (YSt ) cos(2mz) + Vo 2m sin(2mz) + 2A— %) + -

DLFmaX (tot) — \/(DLFmaxl)z + (DLFmaXZ)Z + (DLFmax3)2

ilndil) daaydl CBe —
.C.A..\AM ua)ﬁj\ ‘ﬁ TC8m alall ‘f :LLLIA awd a;\g_.l iLaldll :\:\L.\as.d\ AAAJJ\ SlDe
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Vi ada Al | ailite — cull — Afiia JSEn Ayl dgaa Al daa s -4-9

Baalg Ay s da s Q\S:\lﬁ;gé A5 diate dud JS0G Ay ddgas A -4-0-1

P Agaldl -
—Inputs —Inputs for { y{t) & t Diagram }
Ft) Fltly
k fknim) = H (seq) =
[»]
mikn.sec2/im) = = t2(sec) =
vl (misec) = - dt =
te ta o C
yo(m)= plot
0 (k) = 1
11 (sec) = 0.8
#d2 (sec) = ¥y = m 06
3 (sec) = 0.4
DLF =
t(sec) = 0.2
Do Show (td/T & DLFmax diagram ) 0, 02 0 06 08 1

- Baaly Ay Ao il Ales B 5i5e e Asd JSE @3 dpayd Algan Alla Agaly :(4-25) s
lgtima s i ) BlailY) e —
A Al dagina dglsi Jagyd Jla b ¥
0<t<ty

y(® = YSt< - Sin(wt))

ta1 wtyq
gy < <ty

sin[w(t — tdl)]>

gy St <tgs

1
t) = 1- I t
V(O = yat (1= e sin(ot) +

sin(wt) sinfw(t—tg1)] sinfw(t—tg)] tgz—t
y(t) =yse | — + +

wiyy wiyy w(tgs —taz)  taz —taz
tgz <t
© ( sin(wt) N sinfw(t—tgy)] sin[w(t—tg,)] sin[w(t— td3)]>

YU =VYst| — -
st wtq wtq w(tas — taz) w(tgs — taz)

0<t<ty

y(t) = y,.cos(wt) + (E L )sin(oot) + yst.i
w (,l)tdl tdl
'tdl S t S tdz

Vo Yst ) Yst .
y(t) = yocos(wt) + (6 - stl) sin(wt) + ootsdl sinfw(t —tg)] + Vst
[ vex )




iy < < tys
y(t) = yocos(wt) + (% — uzl‘:l) sin(wt) + uz,ts; sinfw(t —tgy)]
w(tdjsi taz) sin(w(t = ta)) + y“ﬁ
g <t
Y () = yocos(wt) + (% - (Zt;) sin(wt) + wyt; sinfoo(t — tg,)]
e ey sl )] ~ o sinfe(t -~ tao)]

A lginay atie ) DLFmaxd adae¥l Sl gl dole Gla e -

:DLFmMax, Jsia

1 1
DLFx =1— - sin(2nz) + 2—1szm[21t(z —x)]

Yo OT 1 ] 1 .
DLF.x = ECOS(ZRZ) + <2n. o an) sin(2mz) + 2_1szm[2n(z -x)]+1

¢ Lliadil) daa ) e -
eadl) el 3 CCO.M okl i dise Alall 03¢ Aalal) duailll daayll cilBle

Ol W) 5 Cijade 4l (0 Apad Algas Ala -4-9-2
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ki ke ke k
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VEY

——
| —



F(t} - —Inputs 2{Pulse Properties)
| vl {(misec) =
‘,\JT/ s — Output
F=ik 0 (kn) =
=
- 2t (sec) =
L _t” ‘ 1d2 (sec) =
—Inputs 1{Frame Properties)
13 (sec) =
K1 (knim) =
t{sec) = -
k2 (knim) = yi(m = DLF1 =
mi{kn.sec2im) = ¥&(m) = DLF2 =
ma(kn.sec2im) = — Inputs for { y(t) & t Diagram }— y tot {m) = DLF tot =
1 fsec) =
bl (m) = P l Show DLFmax
h2(m) = o
Number of Spans ’ Plot l
Cialday ) (B 85 Cipade And JO& i duad Alsan Alla Agaly 1(4-26) g8l
gtinay Afiw Al Llaiay) cldle -
0<t<ty
t  sin(w;t)
110 =3 1 - 22020
" \ta W1t4q
t  sin(w,t)
10 = a2 - 22020)
" \ta Wz 41
Viot() = Vy1(D? + y2(t)?
a1 S t=ty;
y1(t) = ye (1 — sin(w;t) + sin[w; (t —tgq1)] )
wW1td1 wW1tq1
y2(t) =y (1 — sin(w,t) + sin[w, (t —tg1)] )
Wal4s Wal41
Vior(H) = Vy1(D? +y2(1)?
g St <tgys
10 ( sin(w;t) | sin[w;(t—tg;)] | sinfow;(t - tgy)] L tas—t >
y = VYst| —
° wq1tqq w1Tqq w1 (tgs —taz)  taz —taz
200 ( sin(w,t) | sin[wy(t—tqy)] | sin[w,(t—tgy)] | tgz—t >
y = VYst| —
° waty Wty Wy (tgs —taz)  tas — taz

Viot(® = Vy1(D?% + y2(t)2
taz <t

——




sin(w;t) N sinfw,(t —tg)] sin[w,(t—tgy)]
w1ty w1tqq w1 (tgz — tqz)

y1(t) =y (—
_ sin[w; (t — td3)]>

w1 (tgz — taz)
y2(t) = ¥st <_
_ sin[w, (t — td3)])

W, (tgz — taz)
Viot () = Vy1(£)? + y2(t)?

sin(w,t) 4 sin[w,(t — tgy)]  sinfw,(t — tg,)]
wytyq wytyq w,(tgs — tqz)

0<t<ty
y(t) = y,.cos(w t) + (E L )sin(wlt) + yst.i
w; Wity tay
y2(t) = y,.cos(w,t) + (ﬁ _ s )sin(oozt) + yst.i
Wy  Watyy tas
Yeot(t) = VY12 +y2(D)?

tgr St<tg

V
0 Yst sinfw; (t — tq1)] + yst

1(t) = t ——
y1(t) yOCOS(w1)+(w1 oty
Vo Vst :
y2(t) = yocos(w,t) + | — — sin(w,t) +
Wz  Walgs 2td1

Viot(® = Vy1(D?% + y2()2

Yst

sin(w,t) +
) W1td1
Vst

sin[w, (t — tg1)] + yst

gy St <tgs

\%
y1(0) = yocos(wqt) + (—0 _ st )sin(oolt) + I sin[w, (t— tg))]
W1 Wtgq W1 dt1 )
Vst ) ds —
sin(w; (t — tgy)) + s ————
w, (tgs _‘Edz) ( ! a2 ) Vst taz — taz
y2(t) = yycos(w,t) + (—0 L )sin(u)zt) + Vst sin[w, (t —tgy)]
Wy  wytyy 2td1
Vst td3 —t

sin(w,(t—tgy)) +
w, (tgz — tgz) ( ? dz ) Vst taz — taz
Viot(D = Vy1(D)? + y2(t)?

gz <t
Vo Vst ) Vst .
1(t) = t) + (— — ) t) + t—t
y (t) YOCOS((D1 ) W, ortes sin(w,t) w1tay sin[w1 ( d1)]
+—T ginfwy (t — tg)] - ———sin[o (t — tgs)]

w; (tgs — tqz) w1 (tgz — tqz)

V¢o

——
| —




Vo Vst Vst

y2(t) = yycos(w,t) + (— -
0 2 Wy  Wytyq
Yst Yst
W, (tgs — taz w,(tgs — taz
Vot (D) = Vy1(D? + y2(D)?
o) lginay e Al DLFmaxd el Sl dgaall e cla e -
:DLFmMax, Jsia

) sin(,t) + sin[w, (t — tqy)]
2td1

) sin[w, (t — tg2)] — ) sin[w, (t — tg3)]

1 1
DLF s =1— - sin(2mz) + Rsm[Zn(z —x)]

DLF pax (tot) — \/Z(DLFmax)z

Yo voTy 1 . 1
DLFax1 = ECOS(ZT[Z) + (27[. o ZT[X) sin(2nz) + msm[Zn(z -x)]+1
DLFpax2 = 22 cos(2 )+(VOTZ 1)'(2 )+ ——sin[2n(z — )] + 1
max? = cos(2mz Py 2mx sin(2nz) + o sin[2m(z — x

DLFmaX (tot) — \/(DLFmaxl)z + (DLFmaXZ)Z
t iluadll) dae ) G -
el Gl 8 deO.m Galal) b e sl o3gn dualal) Llpaiil daayll Glide
ol A ) B it dud Sy Apiad Algas Als -4-9-3
co LT T T T LT

AaTingd glshall 5 Uy

tdgaldll —
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_
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—
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— Inputs 1{Frame Properties)

KT (knirg = mi(kn.sec2im) = ht(m)=
k2 (knir) = m2(kn.sec2im) = h2 (m) =
Number of Spans  m3(kn.sec2/m) = h3{m)= _output

— Inputs 2{Pulse Properties) Inputs for { v(t) & t Diagram )

t1 (sec) =

vl (m/sec) = td1 (sec) =
= DLF1=

¥O (m) = 2042 (seq) = 12 (seg) = y1(m)
=] DiF2=

0 (km) = d? fsec) = dt = vz (m

y3ifm = DLF3 =

t(sec) =
Plot
Do ‘ yiot(m) = DLF tot =

\ Show DLFmax ‘

Gilshal) B ) L e Ciata 4 JS5 €3 dad Algan Alla Agaly :(4-27) 08

0<t<ty
t  sin(w;t)
100 = yg | — ———=2
y1(t) = yst (tdl o1ty )
t  sin(w,t)
2(t) = yo | — — ——2—2
y2(t) = ys (tdl oyt )
t  sin(wst)
3() = ygt | — ————=
y3(t) = yst (tdl ot )
Viot(D = Vy1(D? + y2(D)2 + y3()?
gy S <ty
V1O = Yee (1= —— sin(ont) +——sinfw, (¢ ~ ta1)])
wW1lg1 wW1lgq
2(t) = (1— sin(oo,t) + sin[w, (t — t )])
y Vst wotyy 2 Wqtay 2 d1
3(t) = (1 — sin(wst) + sinfw;(t—t )])
y Vst wstqas 3 w3ty 3 d1

Viot () = Vy1(D2 + y2(D)2 + y3(t)2

.tdz S t S td3
10 ( sin(w;t) N sin[w; (t —tq1)]  sinfwi(t—tg)] tgz—t >
y =VYst| —
> w1tqq w1ty wy(tgs —taz)  taz — taz
2(0) < sin(w,t) + sinfw,(t —tgy)] = sinfw,(t—tgx)]  tgz—t >
y =Vst| —
> wytyq wytyq w, (tg3 — tgz) taz — taz




y3(t) = yst (—

sin(wst) N sinfwz(t —tg)] = sinfwz(t—tg)]  tgz—t >
w3ty w3ty w3 (tgs — tqz) taz — taz
Viot(®) = Vy1(D2 + y2(D)2 + y3(t)2

gz St
sin(w;t)  sinfow(t—tq;)]  sinfw (t —tg;)]
Y(t) =Vst| — +
w1tgq w1tq w1 (tgz — taz)

w1 (tas — taz)
y(®) = yst (—
_ sin[w,(t — td3)])
Wy (taz — taz)
y(®) = yst <—
sin[wz(t — td3)])

w3(tgz — taz)
Viot () = Vy1(D)2 + y2()2 + y3(t)?

sinfoy (t - tdg)]>

sin(w,t) + sin[w,(t—tgy)]  sinfw,(t —tgy)]

wytyy wytqq wy(tgz — taz)

sin(wzt) N sin[ws(t —tq1)]  sin[ws(t —tg,)]
w3ty w3tyq w3 (tgs — tgz)

0<t<ty
y1(t) = y,.cos(w;t) + (E _ st )sin(wlt) +y t.L
w; Wity gy
y2(t) = y,.cos(w,t) + (E _ It )sin(oozt) + yst.i
Wy  Wytgy tas
_ Vo Vst . t
y3(t) = y,.cos(wst) + (— — sin(wst) + ygr. —
w3  W3lg; tas

Viot () = Vy1(D)2 + y2()2 + y3(t)?
g St < tgy

y )
= sin[o (t — tqy)] + Vet

Vo Yst
y1(t) = yycos(w,t) + (— —
0 ! (‘;)1 00}17 d1
2(t) = t) + (—0— =
y2(t) = yocos(w,t) o, ogtys
Vo Vst

3(t) = ygcos(wst) + (—— )sin((o t) + sinfws(t —tg)] +
y Yo 3 ws  wstes 3 w3ty [ws3 a)] + Yst

Viot(®) = Vy1(D)2 + y2(D)2 + y3(t)?

) sin(w,t) +
14d1
Vst

) sin(w,t) + sin[w, (t — ta)] + Vst
w,lgq1

Vst

.tdz S tS td3

\%
y1(t) = yycos(w t) + (—0 _ s )sin(oolt) + Vst sin[w, (t — tgy)]
w1 Witdsq Wy qc1 )
Vst . d3 —
sin(w; (t—tgq2)) + ysg——
w1 (tgs — taz) ( ! ? ) 5t taz — ta2

——
| —



%
y2(t) = yycos(w,t) + (—0 _ st )sin(mzt) + Vst sin[w, (t — tgqq)]
Wy  Walyq (V) ('icl )
Vst . d3 —
sin(w,(t — tgy)) + Y5t ————
w5 (tq3 _‘Edz) ( 2 a2 ) It taz — taz
y3(t) = yocos(wst) + (—0 L )sin(oogt) + Vst sin[w;(t —tgq)]
w3  W3lyq w3lgq
Vst td3 —t

sin(w;(t—tgy)) +
w3(tgs — tgz) ( 3 dz ) Vst taz — taz
Viot(® = Vy1(D2 + y2(D)2 + y3(t)?

gz <t
\%
y1(t) = yycos(w t) + (—O _ st )sin(wlt) + Yst sinfwq (t — tgq)]
y w;  W1ltgq 1 di’
st . st :
sin[w,(t—tgy)] — sin[w, (t — tg3)]
w1 (tgz — tqz) ! a2 w; (tgz — tqz) ! a3
V0 YSt . YSt .
y2(t) = yocos(w,t) + (— — sin(w,t) + sin[w, (t —tg1)]
y Wy  Walyq 2 d;}
st . st )
sinfw, (t — tgy)] — sinfw, (t — tg3)]
w;, (tg3 — t4z) 2 a2 w, (t43 — tgz) 2 as
Vo Vst . Yst .
y3(t) = yycos(wst) + <oo_3 — 003;11) sin(wst) + 003Std1 sin[w;(t—tgq)]
Vst . Vst .
sinfw;(t — tgy)] — sinfw;(t — tg3)]
w3 (t43 — tgz) 3 a2 w3 (tq3 — tgz) 3 as

Vior() = Vy1(D2 +y2(D? +y3(D)?
o lginay die ) DLFmaxd) eV Swlial) dgaall dole cla aldle -
:DLFmMax, jaie

1 1
DLFx =1— - sin(2mz) + 2—1_[XSIII[2T[(Z —x)]

DLF pax (tot) = \/3(DLFmax)2

DLF, .1 = 2% cos(2 )+(VOT1 1)'(2 ) + ! in[2m(z — x)] + 1
maxdl — StCOS TZ 2T[_yst 21‘[X SIN(\ £2TTZ 2T[XSln T\ Z X

DLF,. .2 =22 (2 )+(VOTZ 1)'(2 ) + ! in[2m( ) +1
max4 = StCOS TZ 21'[.yst an SIN\ £2TTZ 21‘[X51n T\ Z X

Yo Vo T3 1 : 1
DLF.x3 = —cos(2mz) + ( — )sm(an) +—-sin[2n(z —x)] + 1
Vst 2TM.yg¢ 2TX 21X

DLFmaX (tot) — \/(DLFmaxl)Z + (DLFmaXZ)Z + (DLFmax3)2
: Aluadill daa )l GLe -
ead) el 3 TCO.M Gl 8 Aie Al o3gr Taldll Aliadil) daayll e
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| —



.",1.25" daga Chal IS8 Ayl Agaa Al 4o -4-10
. Baaly s A s Q\Jﬂa@jjﬂb}aﬁdﬁa:\ﬂm gan U -4-10-1

[ —Inputs for { y(t) & t Diagram }
e F(t) Flig
A t1 (sec) =
K (knirg = m ]
Fof Z () t2(sec)
\ =ik
mikn.sec2/m) = [ A = o
>
0 ’
0 (kn) = T ot olot
1
id (sec) =
0.8
t(sec) =
] y(= m 06
= :
DLF =
02
‘ Show (td/T & DLFmax diagram ) o o s - - 1

CBaaly Ay A il Aay B 3)ige oadad JE ) Apdas Agan Ala Agaly :(4-28) Jsid)

gty i 3 HlainY) e -

T OFw*
0<t<ty
_ _ t T -
y(t)—yst[ - 2] [mn(na)—msm( T[T)]
N
2ty
tg <t
T t
acos(nf) | t oty
O =yarttr— i [2n (5 -5
) "
G -1]
T 0o=w*
0<t<ty

© =3 [sin (2n) ~ 2. cos (2n )
y(t) ===|sin{ 2m T COS | 2T

tg <t

y(t) =yt 21 cos <2T[ (% — %))

ol lginay At ) DLFmaxd eV Swlial) Dgaall dole cla aldle -

:DLEmMax, jaie
x € ]0,0.5[ Jal o

VYo

——
| —



cos(Tx)

DLFinax = ———
|G -1
x = 0.5 Jal ;e
T
DLFimax = 5

x €]0.5,2.5] daf o

DLF 1 . 2T 1 2T
=T | ()~
-G |

1
2% 2X
.C.A..\AM ua)ﬁj\ ‘ﬁ CClOm alall ‘;S :LLLIA awd a;\g_.l iLaldll :\:\L.\as.d\ AAAJJ\ e

- Oy W) B a8y iy Usas Ala -4-10-2

o i TR DB T

P Agaldl -
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F(t) A Ry
m

Fo[— = f1) .
=ik

o Tt >

— Inputs 1(Frame Properties)

KT (knimy) =
k2 hknim) =
mitkn.sec2im) =
m2(kn.sec2/im) =
ht (m) =
h2{m) =

Number of Spans

— Inputs 2{Pulse Properties)

0 (kn) =
tel (seg) =

tfseg) =

— Output

y1(m) =

t (sec) =
2 (sec) =

dt =

— Inputs for ( y(t) & t Diagram }—

[ Plot

y2(m) =

yilot(m)=

DLF1 =

DLF2 =

DLF tot =

Show DLFmax

ol ) B Bisa adib IS il Apa Algas Alla Agaly :(4-20) s

TWF®*
0<t<ty
0 =Ll () - o o)
y = Vst T _(E)Z_ _sm ntd stm 1TT1_
ta/ |
20 ol (n) g sin (2
= - —|sin{mt— ) ——sin|(2mT—
y YStl_(k)Z‘ tq Zd TZ—
| 2tq/ |
Yeot(©) = Vy1(D? + y2(1)?
tg <t
T,
- —cos(Tt—) T, t ty
th
—cos(n—) _ -2 t oty
y2(6) = yst k , R(T_Z_Z_T)
th
Vot () = vy1(D? + y2(1)?
Tw=w*
0<t<ty
10 =5 [sin (2n) = 2 cos (2 )|
y =5 sin nTl T[T1 cos 1TT1
20 = 5" [sin (2ng) ~ 2 cos (2 )|
y =5 sin T[T2 T[T2 cos nTz




Viot()) = Vy1(D?2 + y2(D)?
1(0) = g 5 ( t 1)
2(t) = TC 5 (t 1)
y ()—Ystz—COS T T, 2
Yiot(t) = Vy1(6)? + y2(t)2
o) lginay die ) DLFmaxd e Sl Dgeaall dale Gla aldle -

:DLFmMax, Jsia
x € ]0,0.5[ Jal e

cos(mx)
DLF % = 2
—) -1
X [(Zx) ]
x = 0.5 Jal O
i1
DLF a0k = 5
x € 10.5,2.5] Jal o
DLE _ 1 _ 21 1 21
s = o sin (55) o | T
1 - E 2X
X € ]2.5,4.5] Jal o
DLF _ 1 . 41 1 41
mETL (i)z Sln(1+2x) B U
2X 2x/ |
X € ]4.5,6] Jal o
DLE _ 1 _ 6T 1 6T
max _1_—(1)2 Sm(1+2x> S
2X - 2x/ |

DLFmax toty = v 2(DLFa0)?
czedall Gyl 8 de10.m il b Ay Allall o3 dualall dduadill dae ) e

Yoy

——
| —




Glshal) s ) b i e JS Auiad Algas Ula-4-10-3
o [T

-
t gl -
F(t
() A i
Inputs 1{Frame Properties) m
P L
k1 (kn/m) = mi(kn.sec2im) = ht(m)= A N Sk
k2 (kn'm) = m2(kn.sec2/m) = h2(m) =
— Output:
Number of Spans m3{kn.sec2/m) = h3(m) =
Inputs 2(Pulse Properties)}———— Inputs for { y(t) & t Diagram ) yi(m = DLFf =
= = 1 (sec) =
0 (kn) = o =
5 =) B y2(m) = DLF2=
t2 (sec) =
t =
el dt = yaim= DLF3=
[ Show DLFmax l

Galghal) G | e 8jfisa akd JSE il Audayi Algan Alla dgaly :(4-30)Jeaal
Hginay afi Al i) Gldle —
0 #= w*
O0<t<ty

1 u ty T, ty]
y1(t) = Vst _1 B (E)Z _sm (T[a) - Z—tdSln (21TT_1>_

' 1 o t T, ty]
y2(t) = Vst _1 B (2)2 _SlIl (T[a) - Z—tdSln (21TT—2)

1 T t T; t\]
y2(t) = Y = 7|sin (T[a> - Z—tdsm (21‘[T—3)_




11 cos(md
tq T, t  tg
03 - )
J1) 1
[(th) 1 ]
T t
t—j cos(m T—‘i Eoty
—2) 2 2
[(th) ]
T3 td
—cos(m— i t ot
t T d
y3(t) = ysr = 3 _sin|2m (T— — ﬁ)
] 3 3

Viot(®) = Vy1(D)2 + y2(D)2 + y3(t)?

W=Ww
0<t<ty
10 = 2[5 (2 t) 2 (2 t)'
y =3 _Sln 1TT1 1TT1.cos nTl _
y =3 _Sln 1TT2 1TT2.cos nTZ _
y =3 _Sln 1TT3 1TT3.cos nT3 _
Viot(D) = /y1(D)2 + y2(1)2 + y3(t)2
tg <t

T t 1
y1(t) = yg > CoS (21‘[ (T_1 — E))

T t 1
V2 = Yergcos <2“ (& z))

T t 1
y3(t) = yo 2— cos (211 (T_3 — E))

Viot (D) = V/y1(D2 + y2(t)2 + y3(1)?
ao)l lginay At ) DLFMax) oake¥)  Soalidl) dlgaall Jule lia cldle -

:DLEmMax, jaie

DLFpyay =~ x € 10,0.5[ Jal o
X[(Z) —1]

DLFax = g X = 0.5 Jal Cra

x € ]0.5,2.5] Jaf o

Yoo

—
| —




1 . 41 1 4m
DLF.x = ————=|sin (1 n ZX) — —Xsm

X € ]4.5,6] Jal o

1 6Tt 1 6Tt
DLFppay = )

————[sin — —sin
12 (1+2X 2X 1+L
[1 - (%) ]

2X
DLFmax (tot) = \/3(DLFmax)2
gedd) Gajill & Te10.m Caladl b dise sl 03gy Aualall {luadill daayd) e

Baals dgals leday asi AS SV Ay 22

el ) Ailg ) Agalghl daay -4-11

Tripfe Frame

Shape of the impulsive load Shape of the impulsive load

Shape of the impulsive load

culi yates

Al Ll Agalsh :(4-31) sl
e 8i5e Culsl olpus Ay sllaal) dpanll Al geall S5 and Jeay 3 30 e il i<y
Gilsh A ((Double Frame) gaiitay jUa) e ¢(S.D.F) asls d3a da)0 <l dlaa
AU Cildarall Jlank Wasy a5 4 stlaall Alall Lalal) dealll ekl ((Triple Frame)
gedd) Gajill 8 front.m Caldl b mae oo LS dlgall dgalsll dayd) 4]

Sk Sk Sk Sk Sk sk sk ok Sk Sk sk Sk sk Sk Sk Sk sk sk Sk Sk Sk sk Sk Sk Sk Sk Sk sk sk ok sk Sk Sk sk sk sk sk Sk sk ok ok sk sk Sk sk sk sk sk Sk sk ok sk sk Sk Sk sk ok ok sk Sk ke %k




aldd) Juadll
.Crasll o DLF Spalial) Al gand) Jale g dSualipal) WYY (ppns
(Ealiall anl) (guakal)
Aldas e SO 5 4ty Aglead)l ABGY) (amy o asiin deal) el o Gaaill Jal o
cJala g JalSil Lyl lidal) e sl gsall Jall ae il

<1> ‘_,Jm -5-1

oy A.5KN.sect/m hall A cdican ASalin Aseal Jle el (ha (i
agiaa A8 all padl Lagyd o Sliely sl Jlals «7500KN/mMéissiall 4idia
:lea bl
4 oesll salsal Jlamy) -1
Kk 2 ALl W t1ddaalll e SlaY) iaie auy =2
Al @sall Gail) 5 kel ) -3
p A Jsaadl 3 Ll dpanll Agaall JICAT e JS5 US Jal e el

m

anll Clial g Lpzanl) 4 ganll U<
F(t)
FO = 900KN 3N Ugan
td = 0.255eC Lol 48l (4} FO =|900 KN AL
t=0.2sec , t=0.3sec
tl = 0'1seC ! t2 = O'3sec 0 ti =025 sec t
FO = 900KN 59,30 Agan 0
td = 0.4 sec aill _)g'."aii %) FO =[00 KN Laline Caia
t=0.3sec , t=0.45sec
t1=0.3sec , t2=0.5sec 0 Ty
FO = 900KN 35 M) A gan F(t)
td1 = 0.255eC (muill Ll () - ) .
td2 = 0.4 sec pailile jaie
t=0.2sec , t=0.3sec t
t1=0.1sec , t2=0.3sec 0 b e
FO = 900KN 35, M) A gan F(t)

FO =900 KN

td=0.65eC _wull b ()
t=0.30sec ,t=0.63sec
t1=05sec , t2=0.7sec 0 to- 06 sec




Ji A Aoy dsay eV e BY) xe (JN) B JKEY) dal e Bas Losale) & ey
Yo = 0.03M oylsia i Jiwls vo = 0.35M/ SeC laylsia anll s

Jadl

-l IS4 @) Audni Agan -1

dagara A4l hag s Adla

1= 0.2 sec ol e gy *

((5-1) ISl 3 e sa WS SIDLF e Al dgalll e Jilaine JSa1 s

Triple Frame

Shape of the impulsive load

Shape of the impulsive load

& P Gl
dyiall auis wljio  cilio
{90 ghd wadlite uliza ilia
—Inputs:

k (knim) =
mikn.sec2im) =
V0 (misec) =
yo(m) =
0 (kn) =
td (sec) =

t{sec) =

—

F(t)
E f(7)
0 T
y=
DLF =

(5-1)Jea

Fitg

‘ Show (td/T & DLFmax diagram )

.(5-2)ds&

0.8

0.6

04

0.2

Shape of the impulsive load

sl yeiuee

((5-2) Sl i) Agalsll el

—Inputs for { y(t) & t Diagram ) T
t (sec) =
t2(seg) =
ot =
plot
02 04 06 08 1




/ 1(5-3) S b cpse sn LS i) liaalpe JAsly asi

—Inputs for ( y(t) & t Diagram )
F(t) Fly
| tf (seg) =
k (knim) = 1750 I " ]
| t2(sec) =
mikn.sec2im) = 45 _: 'k
— dt =
t
vl (m/sec) = 0 plot
¥0 (m) = 0 '
0.8F
10 (kn) = 900
y()= m 06
td (sec) = 0.25
04+
DLF =
0.2t
‘ Show (td/T & DLFmax diagram ) % 02 02 05 08 1
(5-3)Jsal

Sy alh Ol Lfi JaY) Jladll e 4 JEY) Glua Ciglladl (g3 o kel (Do e
s b Saeliall Ageal) Jale 5 JEY) dad 5 Jlaadl 130 3 Glaiud) dlabee jelin o(g il
(5-4) 8 8 e s LS ddaall)

o Alain) Al
Jae 1 Jiad)
Al )y

T
de Jlany) dad

t=0.2 sec ()

y(t)= Yst*(1-cos{w"t))

4 ganll Jale 4408 LS y(@)= 0.00022791 = m
G sall Saalinall
DLF = 0.0044316
(5-4)Jsa

Loy Jall e Sl
Al et 0 < £ < tg W JsY) Jlaall & laia) Aabee o Lasy dbdanll Zufll (g
y(t) = yst(l — COS((L)t))




Fo 900
" K 17500

Vst =
K 17500
w= [—= = 62.361 rad/sec
m 4.

y(t) = 0.05143(1 — cos(62.361x0.2)) = 0.00022791m OK
) Jall silaa a4
: 1 =0.35ec G die iy *
ol o Jliel Do i & eseC 030 svie JEY) lua ogllaall Caill yukiy asis
Alaiu) Alilee ek ¢ pall AVl 5B Jlae ol S Jlaad) 3 a8y 48 JEY) Clua Goslladl)
JEN 8 Ome sn LS cilaalll oda 8 Saeliall Algeal) Jale 5 JEY) dad 5 Jladd) 1 b

= 0.05143 m

:(5-5)
— Inputs
F(t) Fil}‘.
k (kn/m) = 17500 I m ]
mikn.sec2im) = 45 I(
t
v0 {misec) = 0 ]
yo(m = 0
0 (kn) = a00
y@= -0.10233 )
td (sec) = 0.25
£ (sec) = @ 1.9898 >
o ‘ Show (td/T & DLFmax diagram ) ‘

.(5-5)Jsa

" 25 Jall e El
DML ety < ¢l A Jlaad) 3 laiu] Al of Gasg Ablasl) duhal) (p

y(®) = yst(cos[w(t — ta)] - cos(wt))
y(t) = 0.05143(cos[62.361(0.3 — 0.25)] — cos(62.361x0.3))

y(t) = —0.10233 m OK
( 1. )
L' )




:t2 = 0.3sec dhall) ) t1 = 0.1sec 4Balll o HEAY) Hade aey *
&5 Akl Gads ead) ey Jaab asis 12 Adaalll ag t] daalll e RV Saie sy dal (e
1(5-6) IS 4 (e s LS« PlOt & (a5 duia3ll 35dadl)

rInputs for ( y{t) & t Diagram )

# (se) = 01 ;J,\S\ 52
t2(seg) = 03 i -
Al e
MA‘)M E}Lij\ > dt = 0.002
plot
[]15 . e . .
J\‘).\A\)’\ (e
SR R P S .
T e .
L T T S boneseeaeeas .
3 i
= 1] . S SR, S VO SN U SO . ___________ 4
1 /S S, L S S \, ........... -
T O S S L 4
-0'20.1 015 02 0.25 03 0.35
t(sec)
(5-6)Jsall

4l Ghlgall il g alied) JELY) *

‘ Show (td/T & DLFmax diagram ) ‘

B P
taalae V) Aall ani 4iag ¢(5-7) JSAN ¢ alaeY)

oSialiaall Algeal) Jale lada e Juass

DLFmax

| | | |
0.05 01 0.15 0.2 025 0.3 0.35 04 0.45 05
tdon T
(5-7)Jsa
r AR Y ]
L J



thhalll e

DLF .« = 2
DLFmaX — Ymax
Yst

Ymax = Yst- DLFpax

Ymax = 0-0514‘X 2 = 0.103 m
) aa3 il (e alaed) JEEDU G8sal) i) il

tq
=—=0.5
T

Rl 55 Gl Al 8 DLFpgy clasy Aalall B0 (3 x = 2 DLFpax o0 98 Gages
JEd Gl t gall o domnd Loty 7= = Ao cad &5 gl Byl gy Jibiiond

adae Y

DLF,.x = cos[2m(z — x)] — cos(21z)
2 = cos[2m(z — 0.5)] — cos(2mz)
2 = cos(2mz — 1) — cos(2mz)
2 = cos(2mz)cos(m) + sin(2mnz)sin(m) — cos(2mz)
2 = —cos(2mz) + 0 — cos(2mz) = —2cos(21z)
cos(2mz) = —1

t
2Zmz=m—=>z=05==

T
T—z\/ﬁ—z 45 =0.1
= 4Tt k— TT 17500— .1 SecC

t=05xT =0.5x0.1 =0.05 sec
Y Jaadl I iy ) sl of Dliels ds¥) ) 8 Llaiu¥) Glaa 3Dle 8 Jaally

2

y(©) = ys(1 — cos(wt))

y(t) = 0.05143(1 — cos(62.361x0.05)) = 0.1028 m ~ 0.103m OK
o>l Jall Bilas s

dagina b Aglgl bagyd A

:1=0.2 5ec Gy die iy *
& corie JUEY] Qlus Coslaall Gailly A all 201 dag il JUaal (anll cilialse Juaxiy a8
ek gyl Al " ISV Jladl a4 JEY) s Gglha) a3l of el 5 Do s

Y1y

——
| —




ek LS calaalll o3 b Salioal) Algeal) Jale 5 JEY) e 5 Jlaad) 138 b Glai) Allas

. (5-8) Jsal
—Inputs
F(t) Fil}l
k (knim) = 17500 N
m
mikn.sec2/m) = 45 k
4_\.1\..‘:.1.:‘)_” A"‘;J'“J‘ vl (m/sec) = 0.35 t
y(t)= (y0-Yst) cos(w™t)+(vOiw)*sin{w™t)+Yst
0 (kn) = 900
¥t = 0.029567 m
td(sec) = 0.25
t(sec) = 0.2 DLF = 0.57492
Do .
Show (td/T & DLFmax diagram )

.(5-8)Jsa)

L Jall e sty
tasies e Aall A lagyd dla A J5Y) Jladd) 3 Glaia) Alalee

V .
y(®) = (o — ys) cos(wt) + —sin(wt) +ys

y(©) = (0.03 — 0.05143) cos(62.361x0.2) + = —sin(62.361x0.2) + 0.05143
y() = 0.029567m  OK

el Jall Gillae a4
: 1 =0.35ec G die Jlaiy *

Gasladl) il o Slicly 5 DO L 5 coie JERY) Galus Cagllaal) il ) cajll Jaanty o s
Aad 5 Jlaall 138 Bl Allae el " a Sl ' B Jlaal) 8 gk 4 JEY) s
1(5-9) JSall 8 e b LS cidaalll oda b Sualidll A geall dale 5 JEY)




—Inputs

F(t) Fuy
K fkn/m) = 17500 m
) ) :
mikn.sec2im) = 45 =13
v0 {m/sec) = 0.35 0 T ts t
y(t}=
(y0-Yst)*cos(w™t)+(vOiw) sin(w™t)+Yst*cos(w=(t-td))
yo(m)= 003
0 (kn) = 900
Y= -0.07342 m
id (sec) = 0.25
t(sec) = 03 DLF = 1.4276
Do .
Show (td/T & DLFmax diagram )

.(5-9)Jsa

Lo Jall e <E
agima g AS Al Al Jagyd Jla 8 S Jlaadl 8 dlain) alea
gzl M) g s (A (A Tl

YO = (7o — Yso) cos(@) +=>sin(w) + s cos[eo(t — to)]

y(©) = (0.03 ~ 0.05143) cos(62.361x0.3) + =

+ 0.05143 cos[62.361(0.3 — 0.25)]
y(t) = —0.07342 m OK

el dall xa Bilsia g
:t2 = 0.3sec dhall) ) t1 = 0.1sec dBalll o HEAY) Aade awy *

(5-10) JSAIL e 58 LS Giisiasl) opilaalll o 1Y) taie Lo Joass Rl 2091 iy

sin(62.361x0.3)

— Inputs for { w(t) & t Diagram )
t1 (sec) = 0.1
t2(sec) = 0.3
dt = 0.002
plot

0.08

0.06

0.04

0.02

-0.02

-0.04

-0.06 -

-0.08

7 t(sec)

.(5-10) e

¢

——
| —



tAd @dlsal) ) g alieY) Jlay) *
(5-11) ISl ¢ abae ) Ssalipall Agandl Jale Jaladia aas ALl 4V iy

1 r—r o T T T T T
'1 - —
E
~
[
05 i
0 1 i i | | i | | i
0 1 2 3 4 5 ] 7 8 9 10
tdon T
(5-11)Jsy
tlabad) e
DLF.x = 1.43

Ymax = Yst- DLFpax

= 0.05143x1.43 = 0.073 m
rol and Jaladall (e ¢ i) JEDU 3lsal) (a3l il

Ymax

ty
=9 =045
=7

R 53 Gal) Wl (8 DLFyngy s 2alall 280 3 x = 25 DLF oy o0 98 Gages

JEdl gl t all o Jeand Lty 2= = Aad ol @5 RIS Byl e Cilaied)
adae Y

Vo- T
sin(2mz) + cos[2T(z — x)]

DLFax = <y_0 — 1) cos(2mz) + 2

st

Yst

0.35x0.1
2 sin(2mz) + cos[2m(z — 0.45)]

0.03
143 = (0.05143 B 1) cos(2mz) + - a3

1.43 = —0.4166 cos(2mz) + 0.1083sin(2mz) + cos(2mz) cos(0.9m)
+ sin(2mz) sin(0.9m)

1.43 = —0.4166 cos(2mz) + 0.1083sin(2nz) — 0.95 cos(21z) + 0.309sin(21z)
0.9563 cos(2mz) — 0.2918 sin(2mz) = —1




JURES
3= 09563 |

b =-0.2918
a.cos(2m.z) + b.sin(2m.z) = —1

a?+b?2=09992=1
WaZ + b2 # 0 e shlaall il oo
axy s _ b _ A
‘_JS.AL, Al c,hA-!SIIl(e) = \/ﬁ 13 COS(e) = NPy : u\ Uy
cos(2mz).cos(0) + sin(2mz).sin(0) = —1

cos(2m.z—0) = —1

cos(2m.z—0) =cos(n) = 2mz—0=m =z=

m—0.2943

0 = arccos(0.9557) = 0 =0.2943 =z = —— = 0.453

talae V) O 3l Cpail) ()5S e
t=0453xT =0.453x0.1 = 0.0453 sec
IV dlaall ) ety il a3l of Sliels J5¥) Jlaall 8 Llaia) Clus Dl 8 Jaall,

2

A%
y(©) = (o — yst) cos(@t) + —sin(wt) +ys,

y(t) = (0.03 — 0.05143) cos(62.361x0.0453) + 62361

+ 0.05143
y(t) =0.0735m =~ 0.073m OK

sin(62.361x0.0453)

el dall Bilaa s

A

——
| —




Loabliia Ala JO& ) dudni Agan =2
dagara A4l g s Adla

1= 0.3 5eC il e gy *
(5-12)JSal (S.D.F e dpusl! Agalsll (e (aline ke JSEI) s

Shape of the impulsive load Shape of the impulsive load

ZOR peEr #:'Z/ :

Shape of the impulsive load

| 4
wailiis jax (n( vailiie ¥

e

o yiall 4 wljio ilio

(Mo ghs | pastiza iy el

(5-12)Jsa
A Agal gl el

— Inputs —Inputs for { yit) & t Diagram )

F(t) _

Fltly G (F=)o

k (kn/m) = m t2(sec) =

|1
f(T) ;
ik dt =
m(kn.sec2/m) = —
——
o t plot
vl (m/sec) =
1
ye(m=
0.8
f0 (kn) =
y(= m 0.6
id (sec) = 04
DLF=
t(sec) = 02
Do " o 02 02 06 08 1
Show (td/T & DLFmax diagram ) ’ ’ : :
(5-13)Je




G i 4 JENY) Clua gl ol o) Sliely (DO s & ¢panl) clivalse Jaal 4
Jale 5 JEY) dad 5 Jlaall 138 & Zlaial) dlales el cgyudll 5aY) Jlaw @l Js¥1 Jlaall
(5_14)@‘5&3\ cadaalll s2a uﬁ éuh:a.ﬂ\ M}Q}j\

rInputs F©)
K (knimj) = 17500 .
mikn.sec2/m) = 45
a
v (misec) = 0 y(t)=Yst*(1-titd-cos(w t)+sin(w t)(wtd))
o (m) = 0
0 thnj = 900 y (= -0.038349 = m
£d (sec) = 04
DLF = 0.74568
t{seg) = 0.3
Do ‘ Show (td/T & DLFmax diagram ) ‘

.(5-14) g

qug Jall e Bl

DLl ot 0 <t < tg W JsY) dlaal) (8 sl dalas o Ly Glatl) 2ual

t 1
y(t) =y (1 — G — cos(wt) + w—tdsm(wt))

F 900
Yst =% = T7500 - 0.05143 m
K 17500
w = == 1T - 62.361 rad/sec
0.3 sin(62.361x0.3)
y(t) = 0.05143 (1 04" cos(62.361x0.3) + £2 361204 )
y(t) = —0.0378m OK

el dall Bilas sag




11 = 0.45 sec ¢pyl) aie Juaiy) *

ool o Jliels 5 Do & «0.45 sec J sxie JEY) Clua Coslhadl (a3l ity o g6
8 8 Alaia) Aoles yedin all 55V Jlae o S0 Jladd) 3 ady 48 JEY) Glua gl
H(5-15)JSa & LS ddaalll oda 6 Saaluall Alganll Jale 5 JEY) dad 5 ol

—Inputs

k (knim) =

mikn.sec2im) =

vi) {m/sec) =

¥o (m) =

#0 (kn) =

td (seg) =

t (sec) =

Do

F(t)
17500
Fole——r
45
a
0 y(t)=Yst*(sin(w*t)/{w*td)-cos{w’t)-sin(w*{t-td)}/{w
*td))
0
900 vyt = 0.050663 m
0.4
DLF = 0.98512
‘ Show (td/T & DLFmax diagram ) ‘

.(5-15)Jea

L Jall e sty

DUl i £y < L) B Jlaall 8 Aty Asbes of Lass dldsil) 2l (g

y(® = YSt(

y(t) = 0.05143(

1 L
w—tdsm(oot) — cos(wt) — FSIH[(D('C - td)])

d

sin(62.361x0.45)

62.361x0.4
sin[62.361(0.45 — 0.4)]>

62.361x0.4

— c0s(62.361x0.45)

y(t) = 0.050664 m =~ 0.050663 m OK

(el dall Bilaa s

:t2 = 0.5sec dhall) 1 t] = 0.3sec Aall) e Y] Aale ay *
LS Sy labae 6L 06, Plot &8 4l sshall 25 kel (ads eall (o) Jlaak o

(5-16)Jsal 3




—Inputs for { y(t) & t Diagram }
t1 {sec) = 0.3
t2(sec) = 05

ot = 0.002
plot

.(5-16)Jsa
il @dlgal) ) 5 alied) Jlany) *

Luﬂ\ ‘d ‘ L‘; . . ‘ Show (td/T & DLFmax diagram ) ‘ . \ L’
Gaakae) dadll s aiay ¢(5-17)dSal ¢ alac)

DLFmax

td t-}nT
(5-17)Jsa
thhalll e
DLF,.x = 1.902
DLFmaX — Ymax
Yst
Fo 900
= 0.05143 m

Yst =% T 17500
Ymax = Yst- DLFpax
Vmax = 0.05143 x1.902 = 0.0978 m

tol and Jaladall (e ¢ alae ) JEDU 3l (a3l lasal

VYo

——
| —



_l_ 4995
x—T— :

R (53 Gal) Wl (8 DLFyngy s Lalall 2800 3 x = 25 DLF gy oo 98 Gages
JEDU Gl t ol le domnd lgis 7 = 7 Ao s 5 il gy (15 adlinal) il

alae Y
DLF s = 1 = = cos(2n2) + 7—sin(2r)
max — X Cos(cTZ 21‘[XSln( TZ
v/
1.902 = 1 — —— — cos(2 = sin(2
70 2995~ os(2ma) + 2114.99551“(z mz)
0.03186 sin(2mz) — cos(2mz) = 0.90 +4.995
POl A
a= 0.03186}
b=1 ,
a.sin(2m.z) — b.cos(2m.z) = 0.902 + 2995
vaz+bz=1

VaZ + b2 £ 0 e slsbuall iyl auis
v/
0.03186 sin(2mz) — cos(2mz) = 0.902 + ——

4.995
. % e b P
1 JSEIL ALl C-y.a.!Sln(e) = \/ﬁ ¢ COS(e) = \/ﬁ 2ol S
Z

sin(2mz). cos(0) — cos(2mz).sin(6) = 0.902 + 2995
:L'j Lﬁi

-

Z
in(2m.z—0) = 0902 + ——
sin(2m.z—0) = 0.90 +4.995

® = arccos(0.03186) = 6 = 1.5389
t0) o) (Sa Bysia die) o i Jsaills il o3 o) lielys
sin(B) = B
P o Sy

Z
2M.z—0 = 0.902+m

30.3845z =12.1922 = z=04
tsakae Y1 JUEDU 8sall sl ()5S Al
t=0453xT =0.4x0.1 =0.04sec
Is¥) sl I iy @il il of el ) el (3 i) Cloa &le 3 Jaailly

2

YV

——
| —




t 1
y(t) = yg (1 — G — cos(wt) + w—tdsm(oot))

0.04 1
y(t) = 0.05143 (1 o~ 0s(62361x0.08) + =

sin(62.361x0.04)>

y(t) = 0.0885m =~ 0.0978 m OK

dagira & A4l g s Adls

= 0.3 5eC (il e Juaiy) *
& coxie JENY) Glua Gusllaall Galls Aall 405¥) Lo p2l) Jlaah sl Clicalge Jasly o 56

ek T Sl TSN Jadl 8 ey 4 JEY) Gles uslladll ol of laely 5 Do gl
One sp LS Alalll ol 3 Saliall Agaall Jale 5 JEEY) dad 5 Jlaal) 138 3 Llail) diles

:(5-18)Ja
I ts
npu j-{t}
K (knim) = 17500 .
mikn.sec2/m) = 45
0
(o (miseq) = 0.35 V(t)=(y0-Yst) cos(w t)+{(vOIw)+Ystiw td)) sin(w*
t)+Yst*(td-t)itd
C_yom= 0.03
0 (kn) = 900 y()=  -00094385
td (sec) = 0.4
DLF = 0.18353
Do .
‘ Show (td/T & DLFmax diagram ) ‘
(5-18)Js.a
L Jall cpe ST
tiagana e AN AlG by s Jla B JaY) sl 8 i) Aol

tg —t
tq

Vo y
y(t) = (yo — yst) cos(wt) + (5 - wit

) sin(wt) + yg;
d




(t) = (0.03 — 0.05143) cos(62.361 03)+( 035 + 0.05143 ) in(62.361x0.3)
yiw =1 ' CO5LB2.55 1XE: 62361  62.361x0.4) SO0 XL
4+ 005143 24703
' 0.4
y(t) = —0.009439 m OK

conand) Jall ga (3ilsia sa5
: 1 =0.55ec g aie iy *

a4 JEY) Gl glhad) eill of liely 5 DO AL &5 0.5 S8C ) il ooty o5
Saelial) Aganll Jale 5 JEBY) dad 5 Jlaall 138 5 Llaiu) Aslee el call l5iaY) Jlae
:(5-19)JRal 4 o s WS cddaalll oda 4

rInputs F©)
K (knimj) = 17500 .
mikn.sec2im) = 45
0
v (misec) = 0.35 y(t)=(y0-Yst) cos(wt)+({vOhw)+Ystiw td)) sin{w*
t)-Yst*sin{w*(t-td))/(w*td)
¥0 (m) = 0.03
0 thnj = 900 y (= 0022531 m
td (sec) = 04
DLF = 0.43809
Do .
‘ Show (td/T & DLFmax diagram )
(5-19) s
" 2o Jall e STl
tasiee e A5all A Jagyd Jla A Jlaad) 3 4lainl) Aol

M y
V() = (o — o) cos(@) + (2 + 2

) sin(wt) — st sin[w(t — tg)]
(,l)td

0.35 N 0.05143

62.361 62.361x0.4

sin[62.361(0.5 — 0.4)]

d

y(© = (0.03 — 0.05143) cos(62.361x0.5) + (
N 0.05143

62.361x0.4

) sin(62.361x0.5)

y(t) = —0.02272 m = —0.022531m OK
sl dall xa il s




:t2 = 0.5sec dkall) ) t1 = 0.3sec dBalll o HEAY) Hade any *
LS Shay) bbie Jal oS, Plot & el sshall & el gays el (o) JAal a5k
(5-20) < 4

—Inputs for { y(t) & t Diagram )
1 (sec) = 03
t2(sec) = 05
ot = 0.002
plot
{w*
003

03 035 0.4 045 05

.(5-20)Js&)

rad 3lgall ail) g alisd) JUEIY) *
AabieY) Aadll i atay aaeY) Saaluall Agaall Jale Lalada (5-21) S0 G

! I

0.9}y gacey -
08

0.7

DLFmax

0.6

0.5

0.4

tdon T
[(5-21) s
DLF 5 = 0.8567
Ymax = 0.0514 x 0.8567 = 0.044 m
ol aas Tl (e ¢ oalaed1 JEDU Gl el Clual

_ Y 0465

V¢

——
| —



Rl 53 Gl Al (g DLFpgy clony 1alsll B0 (8 x = 25 DLFinay e 98 Gages
JE 3olpall t paill o Jumnt leiny 2= o o a8 (Al By d g il Bl
alae Y

_ yo VoT 1 ) 1 i
DLFhax = (E - 1) cos(2mz) + (21Tyst + m) sin(2mz) — msm[Zn(z —x)]
0.8567 — ( 0.03 1) (2nz) + ( 0.35x0.1 N 1 ) in(2m2)
' - 0.0514:?l COSLATZ) T\ 91x0.05143 © 2mx0.465) > 4T

_ msm[Zn(z — 0.465)]

0.8567 = —0.4167 cos(2mz) + 0.45 sin(2mz) + 0.334sin(2mz)
+ 0.0746 cos(21z)

—0.3421 cos(2mz) + 0.784 sin(2mnz) = 0.8567
—0.399 cos(2mz) + 0.915sin(2nz) = 1

t o g
2= ~0399)

b =0.915
a.cos(2m.z) + b.sin(2m.z) = 1

a’?+b2=0998=1
Va2 +b? # 0 e shludl i)k auis

B %y L — b — a 1 A
1 JSEL A maaisin(B) = NI cos(0) = Nk O i
cos(2mz).cos(0) + sin(2mz).sin(0) = 1
i
cos2m.z—0) =1
2+ 06
cos(2m.z—0) = cos(2m) = 2Mz—0 =2 =z =
21+ 1.9812
0 = arccos(—0.399) = 6=19814 =z = = = 1.315

tsakae Y1 JUEDU 8sall sl ()5S Al

t=1.315xT =1.315x0.1 = 0.1315 sec
Sl of Jliel Lasame e Al lagyd Jla 8 5V sl 8 L) Qlea ADle 3 Jall,
rand Jo¥) Jlaall ey il

Vst ) . td —t
sin(wt) + —_—
oty (wt) + yst ty

Vo
y1(t) = (Vo — ¥st) cos(wt) + (B +

\Yyo

——
| —



\%
100 = (o — Y0 cos(t) + (=2 +
y(t) = (0.03 — 0.05143) cos(62.361x0.1315)
0.35 0.05143
+ ( +
62.361 62.361x0.4

+0.05143 0.4 —-0.1315
' 0.4

y(t) =0.045m = 0.044m OK

Vst ) . td
sin(wt) + —_—
oty (wt) Vst tq

—t

)Sin(62.36lx0.1315)

< L)

dagara dilgl Jag s Alla

«(5-22) 88l 4 WS S.D.F e ailite pains JRE A

S.D.

Shape of the impulsive load

Shape of the impulsive load

Shape of the impulsive load

Ll
wadliie EEE) vailiie < ilio
by iall aui wlsie  ilis
950 ghs uaslins ulies  (flis
(5-22) s
— Inputs: —Inputs for { y{t) & t Diagram }
tf {seg) =
k (knim) =
t2(sec) =
mikn.sec2/m) = @0
v0 (misec) = plot
yo(m) = 1
0 (kn) = 08
tdf (sec) = y (t) = m 06
id2 (sec) = 04
DLF =
t(sec) = 0.2
Ba ‘ Show (td/T & DLFmax diagram ) % 02 04 06 08 1
.(5-23)Js




: 1=0.2 Sec (ri) ale Jlaiy) *
o 4 JENY) Claa sl Ga3l) of Jliely 5 DO i 5 ¢ panll Cilivalse Jasly a5
Jaele s JEY) dad 5 Jlaall 130 8 Llaia¥) dlalea jeds cgpudll 1A Jlae gl J5Y) Jlaal)

:(5-24) 8 8 Gae s WS ddaalll oda L Saalial) A gaall

—Inputs
Fi)
F{l‘)A A
k (knim) = 17500 m
Fo e
mikn.sec2/m) = 45 ok
v0 (misec) = 0 0 fat  te ¢
y(t)= Yst*(1-cos(w’t))
yo (m) = 0
f0 (kn) = 900
01 (sec) = 0.25 y= 0.00022791  m
td2 (sec) = 0.4
DLF = 0.0044316
t(sec) = 0.2
Do Show (td/T & DLFmax diagram ) ‘

(5-24)Jsa)

qug Jall e Bl
AL i) S t < tgg W d;)” BIEWNY = Aaldail) Auhall fe dolatiul) dlales

y(©) = yse(1 — cos(wt))
_Fo_ 900 _ = 0.05143
~X 17500 m

17500
1T - = 62.361 rad/sec

y(t) = 0.05143(1 — cos(62.361x0.2)) =0.0002278 m =~ 0.0002279 m OK
>l dall Gillas a4
: 1 =0.35ec ¢ ae gy *
ool of Dl 5 (Do _iu & 0.3 sec ) sxie JE) Clua Caslhadl el juiiy a6
& AV Allee ek (gl 5RY) Jlae ol BB Jlaall 8 ady 4 JEY) Clua (st
$(5-25) 0 & LS Adaalll oda 3 Saeliall Alganl) Jale 5 JY) dad 5 Jlaall 12




—Inputs

B0
F(t), "
k tknim) = 17500 m
m{kn.sec2/m) = 45
v0 {m/sec) = 0
Yst*(1-{t td1§;};t);2 td1) {

- st*(1-(t- -td1)-cos(w
S 0 *t)y+sin(w*{t-td1))(w*(td2-td1)))
R (kn} = 900

td1 (sec) = 0.25 y(t)= -0.016501 m
td2 (sec) = 0.4

DLF = 0.32085

Show (td/T & DLFmax diagram ) ‘

.(5-25)Jsa

Lo Jall e <E
AL et tg; St <ty W d;Z” BIEWN] < Aoldail) Auhall fe dolatsl) dlales

t—t sinfw(t —t
y(®) = yst <1 L os(ot) + [w( d1)]>
taz — ta w(tgy — tar)
© = 005143 (1 037025 o sg1x03) 4 SNI62361(03 — 0.25)
e 04—025 oo 62.361(0.4 — 0.25)

0.15 62.361(0.15)
y(t) = —0.016502 m ~ —0.016501m OK

el Jall Gillas o4
: 1 =0.45 sec ¢wl) aie Sy *

ool o Jliel 5 Do & «0.45 sec J sxie JEY] Glua Gaslhadl (il ity o g6
a8 Al Aoles i yal) Y] dlase ol Callill Jlaall b ady 4 JEY) Clua gl
H(5-26) 08 & LS ddaalll oda b Saeliall Alganl) Jale 5 JEy) dad 5 Jlaal

0.05 in[62.361(0.05
Y = 00T (1 005 s(62.361x0.3) + SmL6Z36LC )]>




—Inputs

Fit)
F(tJA A
LI 17500 m
mikn.sec2/m) = 45
v (misec) = 0
Yst*(-cos( 3;()”? (w'{t-td1))
= st*(-cos{w™t)+{sin{w"{t-
yo(m) = 0 -sin{w*(t-td2))}{w*{td2-td1)))
f0 (kn) = 900
td1 (sec) = 0.25 y{y= 0.049632 m
td2 (seg) = 0.4
DLF = 0.96506
t(sec) = 0.45
Do Show (td/T & DLFmax diagram ) ‘
.(5-26) sl

Lo Jall e <E
DAl Jaxd gy <t L Gl Jladl 3 bl Al (e dlaiaY) Al

_ ~ sinfw(t — tq1)] _ sin[w(t — tgy)]
y() = YSt( cos{wt) + 0 (tgz — tar) 0 (taz — ta1) )

(© = 005143 [ — cos(62.361x0.45) + sin[62.361(0.45 — 0.25)] _ sin[62.361(0.45 — 0.4)]
yiw=>=a ' ' 62.361(0.4 — 0.25) 62.361(0.4 — 0.25)
~ sin[62.361(0.2)]  sin[62.361(0.05)]
y(t) = 0.05143 (— cos(62.361x0.45) + — ot oS~ — S e
y(t) = 0.049633 m =~ 0.049632 m OK

>l dall Bilas s
:t2 = 0.3sec dhall) ) t1 = 0.1sec ABalll o HEAY) Aade awy *
(5-27) 08 Plot & (a5 i3l shall 5 Al (s sul) (o) JAl asis




Saalinal) Aganll Jale Ll e Joass

CLFmax

18

—Inputs for { y(t) & t Diagram }
itf (sec) = 041
t2(sec) = 03

dt = 0.002
plot

t(sec)

[(5-27)Js&

il @dlgal) ) 5 alied) Jlany) *

‘ Show (td/T & DLFmax diagram ) ‘

05 1 15 2 25 3 35 4 445
tdonT

.(5-28) s

DLF,.x = 16.94
Vmax = 0.05143x16.94 = 0.87 m

T—ZF—Z 45 =0.1
= 4Tl k— TT 17500— .1 SecC

O el
galae V) Aall and dia o 5-28)JSi ¢ adac Y

thhalll e

YA

——
| —




53 il Ula 3 DLy obons 1alsl) 20 3 X = 25 DLFingy o SIS g
Gilsadl t el e Jomni lgias 7 = %@swg‘@w%ﬁww&w\ i) JS)
Loalae ) JE

Z—X

DLF .« =1— e cos(2mz) + o

1
m Sil’l(ZT[(Z - X))

A= 0250 tua

16.94 = 1 z— 0245 (2mz) + 1
Sl COSLEMZ) T 5 (0,25 — 0.245)

0.25 — 0.245
1694 =1————— — cos(2mz) + sin(2m(z — 0.245))

sin(2m(z — 0.245))
z — 0.245
0.005
z — 0.1653 = —0.005 cos(2mz)
1
+ o= [sin(2mz)cos(2m0.245) — cos(2mz)sin(2m0.245)]

iz ey Gl aay
0.005 sin(2mz) — 0.1641cos(2mz) = z — 0.1653

1
2m(0.005)

Pl o
a = 0.005 }
b = 0.1641
a.sin(2m.z) — b.cos(2m.z) =z — 0.1653
a?+b? =0.1642

«Wa? +b? # 0 e slludl )l anis

v/
0.0304 sin(2mz) — 0.999cos(2:z) = 01642 1.007
: JSAlL A maaisin(0) = N cos(0) = \/ﬁ 2 o) i
sin(2mz).cos(0) — cos(21mz).sin(0) = 01642~ 1.007
i
sin(2m.z — 0) = — 1.007

0.1642
® = arccos(0.0304) = 0 = 1.5404

pol lie) (e By Lie) Lad B3 jsaills aill 020 of Jlielys

sin(B) = B
P ) oS L
21'[.Z—6=0.164%—1.007
2m.Z — 1.5404 = 0164z~ 1.007
[ YA }




0.0317z=0.08758 = z=2.8

peabae ) O 3l el ()6 4iay

t=28xT =2.8x0.1 =0.28 sec

dagira & Ayl hagd Adls

:1=0.2 Sec Gy die Juiyy *

& conie JENY] Clua Caslaall Gally A all A0 N1 dagpill Jlaal (anll clicalse Juaxty a8
ek "l Slzal " UGV Jlad) 8 ady 48 JEY) Gl glladll eil) o liely 5 Do A
5-) Sl aalll oda & Sl Dgandl dale 5 JEY) dad 5 Jlaall 138 & Golaind) Al

—Inputs
k (knm) = 17500
mikn.sec2/im) = 45
vl (m/sec) =
yo (m) =
f0 (kn) = 900
tdt (sec) = 0.25
td2 (sec) = 0.4
t{sec) =
Do

(29

F(O, &

Fe

0

y(t)= (y0-Yst)*cos{w™t)+{vOiw)*sin(w"t)+Yst

¥yt = 0.029567 = m

DLF = 0.67492

Show (td/T & DLFmax diagram )

.(5-29)Jsl)

LJJ.J Jall e Bl

Al haed 0 St < tgg W) Jlaad) 3 Abdarl) Auhall (e dplaiu) Al

Vo .
y(®) = (7 — ys0)cos(@t) +—>sinwt) + v

0.35
y(t) = (0.03 — 0.05143)cos(62.361x0.2) + sin(62.361x0.2) + 0.05143

62.361

y() = 0.029567 m = 0.029567m  OK

(ol dall Bilaa s




: 1= 0.35ec cril ale Jlaiy) *

a4 JE) Glea gl gl of Slacly 5 DO i 50,3560 ) caill Juasiy i
Dgeall Jale 5 JEY) Lad 5 Jladd) a5 Llaial) dobee el "(gpud Slial " 36 Jladll
(5‘30)@\ cddaalll o2 uﬁ é:mh:aﬂ\

—Inputs

Z0)
F@, A
k (kn/m) = 17500
Fo
m{kn.sec2/m) = 45
vi) {m/sec) = 0.35 0
{v0-Yst) \{(t); {vOAwr)*sin(
= -Yst)*cos{w™t)+({v0iw)*sin
Yo tm) = 003 wit)+Yst={(1-(t-td1)f({td2-td1)+sin(w(t-td1
NHwE(td2-td1)))
10 (kn} = 900
td1 (sec) = 0.25 y(= 0.01241 m
td2 (sec) = 04
DLF = 0.2413
t(sec) =
o ‘ Show (td/T & DLFmax diagram )

(5-30)Jsa

qug Jall e Bl

DML ety S ES tgp W S Jlaal 8 Allail Al (e laiud) Aol

V() = (= y)cos(n) + Lsin(n) + RO Il toe ol
s sxally
y(t) = (0.03 — 0.05143)cos(62.361x0.3) + 62:361 sin(62.361x0.3)
0.05143xsin[62.361(0.3 — 0.25)] 04—-0.3
62.361(0.4 — 0.25) + 005143 57475
y(t) = 0.012409 m = 0.01241 m OK

(el dall Bilaa s
: 1=0.45 sec ¢l aie Jlauy) *

i 4 JEN) Glaa glladll ail) o) Jlaely 5 Do it &3 <0.45seC ) el Jhasiy asis
Dganl) Jele 5 JEY) dad 5 Jlaall 138 3 Blai) Aobee Ledai " ja Sl " A Jlad) b
(5-31) 8l cidaall oda &  Saalinal




—Inputs

it
F(t)A A
k (knim) = 17500 m
myikn.sec2/m) = 45
vl (m/sec) = 0.35
(y0-Yst) sg(t); (vOiw)*sin{
_ -Yst)*cos{w*t)+({v0iw)*sin
¥ (m) = 0.03 wit)-Ystsin{w*{t-td2))(w(td2-td1))+Yst®
sin{w{t-td 1)} {w*{td2-td1})
0 (kn) = 900
i1 (sec) = 025 y{Y= 0.021483 m
td2 (sec) = 0.4
DLF = 0.41773
t(sec) = 0.45
Do Show (td/T & DLFmax diagram )

.(5-31) g

LJJ.J Jall e Bl

DL e gy <6 G AN Jlaal) b AL Al (e Glaiad) Aila

Vo . Vst .
(t) = (yo — ysp)cos(wt) + —sin(wt) + sin[w(t — tgy)]
y Yo Vst . » w(tdz — tdl) d1
st .
—————————sin[w(t — tg,)]
o (taz — ta1) a2
y(t) = (0.03 — 0.05143)cos(62.361x0.45) + 62-361 sin(62.361x0.45)
+ 0.05143 in[62 361(0. 45 — 0.25)]
62.361(0.4 — 0.25) > O~ ' '
0.05143

- in[62.361(0.45 — 0.4
62361004 —025) "l ( )]

y(t) = (—0.02143)cos(62.361x0.45) + c7 361 sin(62.361x0.45)

+ 0.05143 in[62.361(0.2)] 0.05143 in[62.361(0.05)]
62.361x0.15 O ' 62.361x0.15 o~ '

y(t) = 0.021484 m ~ 0.021483m  OK
el dall xa Bilsia gy
:t2 = 0.3sec kall) I t] = 0.1sec Aall) e jHaY) Aale awy *

((5-32) S, PIOt & cyas dsia)l skadl) &3 dledll (pais el (pa) Jal sk




—Inputs for ( y(t) & t Diagram }
tf (sec) = 0.1
t2(sec) = 0.3
at = 0.002
plot
ny 003
0.02
0.0
£ o
0.0
-0.02
J 03 n,iws n,iz n,izs n,ia 035
t(sec)
(5-32) s

il @dlgal) ) 5 alied) Jlany) *
ALl AL agde Juass 3l abie V) Saaliall Ageal) Jale Jalade (5-33)dSa o

1.3 T T T T T T T T T

L S S S S S S

. | | | | | |

1A xosaz o AR A S [ I _
I RARE : : : : :

1+

0.9

0.8

DLFmax

0.7

0.6

0.5

0.4

0 05 1 15 2 25 3 35 4 45 5
tdonT

.(5-33)Jsa)
thhadll
DLF.x = 1.158

Ymax = Yst- DLFpax
Vmax = 0.05143 x 1.158 = 0.059 m

tol and Jaladall (g ¢ adac ) JEDU 38sall el Ll
M _ 06412
X=—=0.
T . /
3 panll Ala & DLF 5y ol daldll 2Dl 6 x = Fdj DLF 0y (e DS (mgas
t ool e Juani leins 7z = %:@W;@w%ﬁ@uﬁm&n easall JS)




ceae ) QDU 3l sall

Yo ) voT sin[2n(z—x)] A—z
DLF. .. =(22_1 2nz) + 2nz) + +
max ( n cos(2mz) T sin(2mz) A — ) -
A =025 o) &
. 035x0.1 sin[2m(z — 0.6412)]
1158 = (0.05143 - 1) cos(2nz) + 05 1a3xzn S P + 025 —0.6412)

0.25 —z

* 0.25 — 0.6412
1.158 = —0.4167cos(21nz) + 0.1083sin(2mz) — 0.4068sin[2m(z — 0.6412)] — 0.639
Z

+ 0.3912
1.158 = —0.4167cos(21z) + 0.1083sin(21z)

— 0.4068[—0.6316sin(2mz) + 0.775cos(21z)] — 0.639 +

0.3912

1.158 + 0.639 — 03912~ —0.7321cos(2mz) + 0.3652sin(21z)
0.3653sin(2mz) — 0.732cos(2nz) = 1.797 — 03912
0.1428sin(2mz) — 0.2864cos(2mz) = 0.703 — z
t o g
a= 0.1428}
b = 0.2864
a.sin(2m.z) — b.cos(2m.z) = 0.703 — z
a’? +b? =0.32
Va2 +b? # 0 e shludl i)k auis
_ 0.703 — z
0.4462 sin(2mz) — 0.892cos(2mz) = 037
T b ' a_ i
ds..dh A c.ya.!Sln(e) = \/ﬁ ¢ COS((??(TBW : u\ )y
: -z
sin(2mz).cos(0) — cos(2mz).sin(0) = 032
o

_ 0.703 — z
Sll’l(2‘l’[. Z — 6) = W

0 = arccos(0.4462) = 6 =1.108
to) i) S Byia Aria) La (i Jsaills all s3a of el

sin(B) = B
PGS ol oS UL
, o 0703z
2= =032

(2mx0.32 + 1)z =1.108x0.32+ 0.703 = z=0.35

VAT

——
| —




teabae 1 QDU (38lsall Cpasll ()5S Al
t=0.35 xT =0.35 x0.1 =0.035 sec
taad ¢ Tgp e il @) Ggesll o Sliel Ja) dlaad) 8 Llaiul] Glea Ale & diaiily

\%
y(®) = (o — ysocos(wt) + —sin(wt) + ys

y(t) = (0.03 — 0.05143)cos(62.361x0.035) + 62361 sin(62.361x0.035) + 0.05143
y(t) =0.06m = 0.059m OK

S.D.
Shape of the impulsive load Shape of the impulsive load Shape of the impulsive load
Jehiiae U yaiven
& asie l3ze

hymiall Ao JJI)MGLLM

(900 ghs) | astess iy 2l

(5-34)Js.a

(5-35) IS b Aiall dgalsll el

—Inputs for { y(t) & t Diagram )

—Inputs:

A 3 y
FGJA ) 1 (sec) =
k (knimj) = m )
F () ] t2(sec) =
4 N =
mikn.sec2/im) = [ l 1 \\ = dt =
0 ’ >t
10 (kn) = Tt plot
1
td (sec) =
0.8
t(sec) =
y= m 06
‘ Do 0
_— DLF =
0.2
‘ Show (td/T & DLFmax diagram ) oE 02 ] e o ;

.(5-35) sl




: 1= 0.35ec cril ale Jlaiy) *
5 D0 i &4 0.3 sec exie JEN) Glua slhadll o)l 5 il Gliialse Jaal a6
ek ol Y Jae gl JY) ) G ok 48 JE) Glas slladll el of el
5-)dsall cddaalll sda 8 Spalpal) Dgaal) Jale 5 JENY) dad 5 Jlaall 138 8 Zlain] dslas

.(36
—I t
nputs HON Fty
k (kn/m) = 17500 m
Fo[— = f(x)
# ‘\ =11
mi{kn.sec2/m) = 45
R0 (kn) = ano
yit)=
(Yst*{sin{wf*t)-(wiiw)*sin{w"t))/{1-(wiw)"2))
td (sec) = 0.8
t(sec) = 0.3
¥yt = 0.052406 m
Do
DLF = 1.019

Show (td/T & DLFmax diagram ) ‘

.(5-36)Js)

qug Jall e Bl
AL i) St < td ARSI BOA| & bdanl) Ayl e dolaiul) Asles

y(©) = st sin (m t—)‘fsm (2n7)]
(e ] ) 2t

= 0.05143 m

Yst = ? 17500

T=2 F—z 45 =0.1
= 4T K— Tt 17500— .1 SecC

y(t)_[ 0.05143 ][sm< ) 22'01.65111(211%)]

2x0 6

y(t) = 0.05179[1 — 0]




y(t) = 0.05179(1 — 0) = 0.05179 m =~ 0.052406 m  OK
>l Jall silaa a4
: 1=0.63 5eC (pyl) aie Jlaiy) *
o kel 5 Do & «0.63 sec sxie JEY) Clua Cslhaall Gl Y el diat ol
i) Aslee el Jal) e Jlae ol 6 Jlaadl 6 gy 48 JEY) Clea Coglhadl ool
(5-37) Sl cilaalll oaa b Saaliadll Algeal) Jale 5 JEY) dad 5 Jlaall 2 3

—Inputs

F(t) A Fltiy
() = 17500 m
Fo—aiy
{ \ =ik
mikn.sec2/m) = 4.4 =
0 (kn) = 900
y{t)={2*Y st *wifw*sin{w*(t-0.5td)*cos(0.5w td)/{{
wifw)*2-1)))
id (sec) = 086
t{sec) = 0.63
YY) = -0.0075578 m
Do
DLF = 0.14696

‘ Show (td/T & DLFmax diagram ) ‘

.(5-37) e

Ly Jall e sty
AL ity <t W @m\ du\ & Aldatll Al e Alaind) Alslas

< cos(r- ) t ot

1O =3 o (5 )
G ] A
2260( ;) 0.63 0.6

y(t) = 0.05143 sm[ ( )]

[ 1)\ 1] ~ 2x0.1
2x06

0. 008571667
y(t) = 0.951056

( 0.1 1
2x0. 6
y(t) = —0.0082m = 0.0075578m OK
>l dall 3ilsa oa4

YA4

——
| —




:t2 = 0.7sec dkall) ) t1 = 0.5sec dalll o JHEAY) Hade any *

JSal) b LS l5aY) nie ()5S PlOt & diasll sshaall 5 Al (ha)s sul) ey Ja
.(5-38)

—Inputs for { y(t) & t Diagram )

tf fsec) = 05
t2(sec) = 0.7

dt = 0.002

0.005

yithm}

0.01 i i i
J 05 0.55 0.6 0.65 0.7
t{sec)

.(5-38)Jsall
rAd Glsal) Gl g alist) QLY *
(ealae ) Saaliall Alganll Jale Jabada (5-39) IS G

2 : : : : :

DLFmax

.(5-39)Jeil

:hhadll

DLF,,.x = 1.768
Ymax = Yst- DLFpax

Y9

——
| —



Vmax = 0.05143 x 1.768 = 0.09 m
tol and Jaladdl) (pad ¢ alac ) JEDU (38sall Gl Ll

t
= 9_083

T
'r—zjm—z S
Nk T 17500 0

psabae Y JUEDU (38 sal) (a3l alaad AN ABRD) 3 (jingas
2L
t= o
1+22
e 2L 2x1
1424 1+ 2x0.83
T

= 0.75 sec

ity e S el ol Sliel S Jlaadl b Glaiul) Glus 4Dle b Jas
T ta
© = vt i [ (- 12

y2 _YSt[(l)z 1]Sln T[T T

2ty B
1.2048cos(0.83m) . 0.75 0.83

1.2048)2 S [21‘[( )]

(22)" 1

2

y(t) = 0.075m ~ 0.09m OK

Y4

——
| —




<2> Guhi-5-2
peallay aelail) Jlealys Ciyaie dad JSiy Ay dgal 5480 JSE) 8 Gl HUY) aaad,
.1=0.64sec 5 t=0.45 secil Galsall a8y Jlyl -1
t2 = 0.4sec 4baalll ) t1 = 0.25eC baalll (o fFaY) Jnie sy =2
sl il U8 A<l Al dagpd Jal (e i (e ASHall 280N Lagpall alawl Jla A el
Y0 =0.04 m sylaie sl JUsly ovo = 0.2 m/ sec?lalais

M=
FO =225KN

MR AL LBl LRI LRl ERE, _
ks= 1500 KM/m
k== 2000 KMN/m m hz=|2.5m
ms= 12 KN_sec®/m
M= 15 KN.Sec® My v ¥ v v % ¥ ¥ ¥ ¥ % ¥ ¥ Y% ¥ % ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ WY 1

|
k: k: k2 K
hi23m
- Y-

el ae 8i%all il Algeal) Llada

F(t),

FO=225KN
t: = 0.2 sec
t= = 0.4 sec
t: = 0.6 sec

Fopu=-

dagirna g0 Jag i Al

: 1=0.45 sec ) Ae Jlany) *
«(5-40) szl <Double Frame e &) dgalsll (e Cipaie 4ui JSEl1 a5




Shape of the impulsive load

Shape of the impulsjve load

Shape of the impulsive load

Jebro culi yaiino el 1o
&2 satesn il o yaien uily o
vadliio yatuo uvadliia . ilia
b yiall i wlsia  ilis
£9Ke gha aslize iz czlie
.(5-40) Js&
~Inputs 2(Pulse Properties)
o i vl (mfseg) =
Ll
yo(m=
Fop——y =N ~ Output
fo) = 0 (kn) =
0T ta te s ¢ tdf (sec) =
id2 (sec) =
~Inputs 1(Frame Properties)——
13 (sec) =
K1 (knim) =
t(seg) = _ -
K2 (knim) = yt(m)= DLF1
Do
mi{kn.sec2/m) = yim) = DiF2 =
- Inputs for ( y(t) & t Diagram }—
m2(kn.sec2im) = : (vt g ) ylot(m) = DLF tot =
tl (sec) =
ht(m=
2 (seq) = ‘ Show DLFmax
h2(m) =
ot =
Number of Spans | Plot |

(5-41)Jsa
:1 = 0.45seC pl) aie Juaiy)
Gl galinl) o DO i 5 ¢(5-42) Sl (B LS YNy (maill liaalye JIaak o588
& Gay (AISe ALS 3 Baaly Apa Aay Baals IS Giles Y RS Aleall Jigas 5 Sl5aY) Ll
O Dl LIS LI Sy o dalall Glaiul) Glua 5 dlea JS o dalagn JalSS Galas




Y Clial g

AQAJL;U 'B..\A::Y‘ Z.Uu.a

Hlaal saee Y1 Aa

Oyl culad aae

—> —Inputs 1{Frame Properties)
LIS k1 (knim) =
> k2 (knim) =
mifkn.sec2/mj) =
m2{kn.sec2/mj) =
bt (m) =

h2 (m) =

_I—) Number of Spans 3

=
=
e

3

m
LY
=

i

tdi tdS

1500

2000

12

15

25

—Inputs 2{Pulse Properties
vl (m/sec) = 1]

yo (m) = 0
f0 (kn) = 225
tdt (sec) = 0.2
td2 (sec) = 0.4
tel3 (sec) = 0.6
t (sec) = 0.45)

—lnputs for ( y(t) & t Diagram )—

tf {sec) =
t2 {sec) =

ot =

| Plot |

Llainy! Aslas
—>
¥ alall Jam >
Ll A Qi f—>
Landl —>

.(5-42) Jsid)
Adla el gyud Slzal b " B Jladll 3 a4 JEY) Glua gllaall il o il
IS dal e clliy calaalll oda 8 Sseliall Ageal) Jele 5 JEY) dad 5 Jlaad) 138 8 Llana)
(5-43)dsall b LS il oSy eddes

— Output

y(t)=

Yst{1-sin(wt)i(wtd1)+sin(w(t
+td1))(wtd1)+sin{w=(t-td2) {w(td3-td2))-{

t-td2)i(td3-td2))

y1 (m) = 0.0014134 DLF1 = 043971
y2(m) = 0.0023144 DLF2 = 0.72002
ytot(m)=  0.0027118 DLF tot = 0.84367
Show DLFmax
(5-43)Jsa
[ va: )
§ J




b

L Jall cpe o<E)

8K Alaad) ) o el
K S A Al a1
Ko = 2K; + (n — 1)K, = 2x1500 + (3 — 1)x2000 = 7000kN/m
2 Aandall Cilaa gl Glaa—2

:aalll) Adaleall Ja ey

det[[Ke] — w?. [m]] =0
a=m;.m, = 12x15 =180
= —(2K..m, + K,.m;) = —(2x7000x15 + 7000x12)
= —294000
c = k? = 7000% = 49x10°
A= 5.1156x101° = VA= 226176.9219

= A= Db? — 4a.c

:4_.\.0}

_ |- VA_ 4294000 - 2261769219 _ ..o
Wy = P 360 = 13. rad/sec
—b + /A +294000 + 226176.9219
Wy, = o = 360 = 38.0123 rad/sec

Sy bl clea -3

:d;ﬁ\ Ll
®11 =1
5 2K, — w?;m; _ 2x7000 — 188.3974x12 677
21— k B 7000 -
[Q)ll] _ [ 1 ]
D1, 1.677
: S0l Jaail)
®12 =1
5. 2K, — w?y;m;  2x7000 — 1444.9359x12 0.477
22— K, B 7000 -

1)
@2] - [—0.1477]

;s JSI Me il ALY Clua —4
:Joy) Laadl) dal (e ()5S

AR

——
| —




Ml = my. @112 + ms. Q)le me; = M
_ 2 _ 1
= 12hX1 + 15x1.677 54.185 | _, 37 1552
Ll =my. @1y + my. 0y ) —
= 12x1 + 15x1.677 = 37.155 54.185

= 25.4775KN.sec?/m
: S Taadll Jal (e
( L
M, = m1.®122 + mz-@zz2 ) me; = ( )
= 12x1 + 15x(—0.477)? = 15.4129
L = my. @y, + m,. @y,

154129
= 12x1 — 15x0.477 = 4.845
X x (= 1.523KN. sec?/m

DAL Jaxitg, <t < tgy B Jlad) b Alladl) Zuhall G laiul) Asle
sin(wt) sinfw(t—tg;)] sinfw(t—tg)] tgz—t
y(©) =yse| — + — —
wtq wtqq w(tgs —taz)  taz —taz
d JoY) Jaadll Jaf e
sdal e i) Aalaay gad

799 165756 rad
mel 25.4775 rad/sec

Vst _i 7000—000321m
1(6) = 0.00321 < sin(16.5756x0.45)  sin[16.5756(0.45 — 0.2)]
y1(t) = 0. _

=y 4.8452

165756x02 T 16.5756x0.2
sin[16.5756(0.45 — 0.4)] 0.6 — 0.45>

16.5756(0.6 — 0.4) + 0.6 —04
sin(16.5756x0.45) sin[16.5756x0.25] sin[16.5756x0.05]

16.5756x0.2 * 16.5756x0.2 * 16.5756x0.2

y1(t) = 0.00321 <—

0.15
02
y1(t) = 0.001413 m =~ 0.0014134m OK
el dall e Bilsia s
t S Tl Jaf o
tdal e Llaiu) Albeey e

= | 7999 677952 rad
@2 = |5~ = |T5230 077952 rad/sec
[ vax )




y2(t) = 0.00321 <—

y2(t) = 0.00321 <—

sin(67.7952x0.45)
67.7952x0.2

s sin[67.7952(0.45 — 0.2)]

. sin[67.7952(0.45 — 0.4)]

67.7952x0.2

67.7952(0.6 — 0.4)

4 0.6 —0.45
0.6 —0.4

sin(67.7952x0.45) sin[67.7952x0.25] sin[67.7952x0.05]
67.7952x0.2 67.7952x0.2 67.7952x0.2
0.15
)
y2(t) = 0.002312m =~ 0.0023144 m OK

el dall e Bl s

: 1 =0.64 sec ¢syl aie Jlayy *
a4 JEY) Qlia bl Gasl) of Sliels «DO s & ot = 0.64 seC ) aill s

ganll Jale 5 JEEY) Aad 5 Jlaall 138 b L) dlibea el ¢ a Sfa) Ll gl Jladl)

(5-44) <Al 4 LS dlea JS Jal e elldg ciaalll o3 6 Saalisall
—Inputs 2(Pulse Properties)

vl (m/sec) = 0
Y0 (m) = 0
— Output
0 (kn) = 225
y(t)=
11 (sec) = 0.2 Yst((sin{w*(t-td1))-sin(wt))f(w*t
d1)+sin(w(t-td2))/(w*(td3-td2))-sin(w* (t-td3) )/ (w*(td3-td2)))
tdf2 (sec) = 0.4
— Inputs 1{Frame Properties)
1500 tei3 (sec) = 06
KT (knim) =
#(sec) = 0.00040241 DLFf = | 0.12519
2 (knim) = 2000 yi(m) = - = -
i tkn.secaim) = 12 E : y2(m)= | -0.00033102 DiLF? = 0.10298
m2(kn.sec2im) = 15 [-Inputs for (y{t) &t Diagram }— yiot(m)= 0.00052106 J DiFtot =  0.16211
t1 (seg) =
At (m) = 3
2 (sec) = Show DLFmax
h2 (m} = 25
ot =
Number of Spans 3 Plot ]

w, = 16.5756 rad/sec

sin(wt)

wtdl

(5-44) )

Lo Jall e oSl
DR axitgs <t L bl Jlaadl 3 bl Auhal ce Glaiul) Al

Y(t) = Vst <_

, Sinlw(t —tq,)]

N sinfw(t — tgy)]
wtdl

w(tgz — tqgz) w(tgz — tqz)

sin[w(t — td3)]>

:JY) el Jal oy

sdal o Al olaay agas




J1(0) = 0.00321 (_ sin(16.5756x0.64) N sin[16.5756(0.64 — 0.2)]
16.5756x0.2 16.5756x0.2
sin[16.5756(0.64 — 0.4)]  sin[16.5756(0.64 — 0.6)]
16.5756(0.6 —0.4)  16.5756(0.6 — 0.4) >
J1(0) = 0.00321 (_ sin(16.5756x0.64) N sin[16.5756(0.44)] sin[16.5756(0.24)]
16.5756x0.2 16.5756x0.2 16.5756(0.2)
sin[16.5756(0.04)]
 16.5756(0.2) )

y1(t) = 0.0004018 m =~ 0.000402 m OK
o>l dall aa Bl sag
p SN Jaail) Jal o
tdal (e L) Adleay (iasas
w, = 67.7952 rad/sec

sin(67.7952x0.64)  sin[67.7952(0.44)] sin[67.7952(0.24)]
y2(t) = 0.00321 — +
67.7952x0.2 67.7952x0.2 67.7952(0.2)
sin[67.7952(0.04)]
67.7952(0.2)

y2(t) = —0.000329m =~ — 0.00033m OK
el dall xa Bl g
12 = 0.4 sec dhall) ) t1 = 0.2 sec 4Balll (e J5aY) Aade auy *
S lmaY) cliaie (sSa5 . PlOt &5 (e Apiaill sshadd) 5 A4l ahs ead) ey Jaaks a5
((5-45) ISl & LS Jeanall piniall g dlea

¥ Aeall 51 Y e Al dlaall ) ¥y s dhanall ) 3ia¥l s

x10° x10°
55 y y y 35

¥ (t)m)
¥2(t)im)
y(t)(m)

25 i i 9 i i i 4 i i i
0.2 0.25 03 0.35 04 02 0.25 0.3 0.35 04 02 0.25 03 0.35 04
t(sec) t(sec) t(sec)

(5-45) s




dagira ,& Algl Jagpd Al
: 1=0.45 sec o)) aie Jlauy) *
& oie JERY) Glaa Cusllaall Gailly A8l &l dag 80 Jlanh sl Cilialse daaxty o5
D6 g Sl Gl Jladl 8 ady 48 JENY) Gles Gglhad) Ga3l) of Sliely s Do il
e J< Adaalll 028 8 Spaliall Alganll Jale 5 JEY) dad 5 Jlaall 138 3 Gl Ailes
(5-46)Jsal b LS

— Inputs 2{Pulse Properties)

F(t) Fithy
| vl (misec) = 0.2
LT_‘ y0(m) = 0.04
= — Output
ik 10 (kn) = 225
] y(t)=
- feH (sec) = 02 yO=cos(wt)+{(vOfw)-Ystiiwtd1))
0 T {, le L L *sin{wt)+Yst*sin{w*(t-td1))(w*td1)+Yst*sin{w
: 2_ 18 12 (sec) = 0.4 ( =(t-td2))JH{w{td3-td2))+Yst*(td3-t)/(td3-td2)
— Inputs 1(Frame Properties)
23 (sec) = 0.6
k1 (knim) = 1500
t{sec) = 0.45
k2 (knim) = 2000 - v1im)= 0.02794 DLF1
mitkn.sec2/m) = 12 ( y2(m) = 0.024716 DLFZ = 7.6694 >
I ts fi t) &t Di —
ma(kn.sec2m) = 15 RS 781 316 e ] \ yiot(m)=  0.037303 DLFtot =  11.6054
t1 (sec) =
A1 (m) = 3
2 (seg) =
h2{m) = 25
dt =
Number of Spans 3 Plot l

.(5-46) Jsd)

sy Jal (e
L Sl Aagana e Aglel Jagpd dal (e Gl Jlaad) 3 llanll Zuhall (e Dlaial) diles
::@ML} ;kxztdz St S td3

\
y(t) = yocos(wt) + (BO — (1371:1) sin(wt) + (311:1 sinfw(t —tg,)]
Vst . tgz —t
sin(w(t—tgy)) + Yoo —
w(tgz — tqaz) ( ) + s taz — taz

:JY) el Jal oy
tal e Tt Aleey Giases
w; = 16.5756 rad/sec

1(t) = 0.04cos(16.5756x0.45) + ( %2 S
y1(t) = 0.04cos(16.5756x0. 16.5756 16.5756x0.2
0.00321

+ 009321 in(16.5756(0.45 — 0.4)) + 0.00321 0.6 — 045
16.5756(0.6 — 0.4) "\ ' ' ' 06— 04

) sin(16.5756x0.45)




1(t) = 0.04cos(16.5756 045)+( 0.2 0.00321 ) in(16.5756x0.45)
yRL = U.OFC0SLL0.0 7 90X0. 165756  16.5756x0.2) 102/ 20X0:

, 000321 n[16.5756(0.25)] + 0.00321
16.5756x0.2 Lo ' 16.5756(0.2)

+0.00321 015
' 0.2

y1(t) = 0.02794 m OK

sin(16.5756(0.05))

ool dall Gilae a4
A0 el Jal o
rdal e ey Asleay Gagns

w, = 67.7952 rad/sec
0.2 0.00321

y2(t) = 0.04cos(67.7952x0.45) + (67.7952 — 67.7952X0.2) sin(67.7952x0.45)

L 000321 05y 4000321
67.7952x0.2 07 ' 67.7952(0.2)

+0.00321 0.15
' 0.2

sin(67.7952(0.05))

y2(t) = +0.02459m =~ 0.02476 m OK
el dall xa Bl g
: 1 =0.64 sec cs3l aie iy *
o 48 JE) Glas sthall ol o lielys (DO i & ¢t = 0.64 seC ) geill s
ganl) dale 5 JEY) dad 5 Jlaall 138 8 ail) Alales Ledi ¢ a Sl 36" bl Jladl
H(5-47)JSa 3 LS dlea OS Jal e elldg cilaalll sda 8 Sualisall

— Inputs 2(Pulse Properties)

v0 {m/sec) = 0.2
¥0 (m) = 0.04
— Output
£ (kn) = 225
yit)=
it (sec) = 02 yO*cos{wt)+({vOiw)-Yst/{w*td1))
=sin{wt)+Yst sin{w*(t-td1))/(wtd1)+Yst*sin{w
1032 (sec) = 0.4 *(t-td2)H{w(td3-td2))-Yst*td2 cos(wl*(t-td3))/td3-td
— Inputs 1(Frame Properties) 2)-Yst*sin{w1*{t-td3))/ (w1 *(td3-td2)))
td3 (sec) = 0.6
K1 (knim) = 1500
~ 1(se9) = o = 0.030938 DLF1 = 9.6252
k2 (knim) = 2000 - yim = -0. = .
m1(kn_sgf;2fm) - 12 | y2(m) = 0.03715 DLEZ = 11.6579
m(kn.sec2im) = 15 [Inputs for (y{t) &t Diagram }—) yiot(m=  0.048346 DLFtot = 16.0409
t1 (seg) =
it (m) = 3
22 (sec) = | Show DLFmax
h2 (m) = 25
gt =
Number of Spans 3 Plot ‘

[(5-47)Jsa)




L Jall cpe o<E)
D ety <t Gl Jlaall g Abdaal Luhall (e sty dobe

Vst
wtdl

Vo Yst
t —_ t _—
y(t) = yocos(w )+( w

Vst .
——————sin[w(t — tg,)] —
w(tqs — tqz) az

sinfw(t — tgq,)]
Vst
w(tqs — tgz)

)sin(oot) +
sin[w(t — tq3)]
:J) el Jab o
tal e i) Aaleay iagas
w; = 16.5756 rad/sec

1(t) = 0.04cos(16.5756 O64)+< 0.2 0.00521 ) in(16.5756x0.64)
YU = DURCOSLE0.0 700X, 165756  16.5756x0.2) > w02/ 00X0:
+ 000521 . [16.5756(0.64 — 0.2)]
16.5756x0.2 > Lo ' '
+ 0.00321 in[16.5756(0.64 — 0.4)]
16.5756(0.6 — 0.4) "L ' '
Vst

~ T6.5756(06 — 0.4) S [16:5756(0.64 — 0.6)]

1(t) = 0.04cos(16.5756 O64)+< 0.2 0.00521 ) in(16.5756x0.64)
yRL = U.0%C0SLL0.0790X0, 165756  16.5756x0.2) >0/ 20X0,
+ 000521 . [16.5756(0.44)] + 000321 [16.5756(0.24)]
16.5756x0.2 > Lo ' 16.5756(0.2) L '
000321 . [16.5756(0.04)]
16.5756(0.2) > L '
y1(t) = —0.02587 m ~ —0.03 m OK

el dall xa Bilsia gag
t S bl Jal o
sl e s Alsleay i gas
w, = 67.7952 rad/sec

2(t) = 0.04cos(67.7952 O64)+< 0.2 0.00521 ) in(67.7952x0.64)
yellt) = HUURCOSID /. 770 X0, 67.7952  67.7952x0.2) > 0170 exT:
+ 000321 . [67.7952(0.44)] + 000321 . [67.7952(0.24)]
67.7952x0.2 > O ' 67.7952(0.2) > 07 '
000321 [67.7952(0.04)]
67.7952(0.2) 7 '
y2(t) = 0.0312m ~ 0.03715m OK

sl Jal ao (B8l5ie sag
:t2 = 0.4 sec dhall) I t] = 0.2 sec Aall e Y] Aale aey *

X th\)!\ Gliade &y, Plot 53 (s 2\:,_,,0)}\ B}Laﬂ\ ?3 aalall ST | o) dhd}" ?-93"
1(5-48) il A LS Jasall Jaidl 5 dlea




Granall ) Y Asia

y1ithim)

-0.01

-0.02

-0.03

0.06

0.05 ; ; T 0.05
0.04 0.04
0.03 0.03
0.02

0.02

0.01 0.0

y2(t)m)

0

001~

-0.02

-0.03

0.04 L

-0.04 L 0 .
0.2 . X 0.2 0.25 03 0.35 04 0.2 0.25 0.3 0.35 04
t(sec) t(sec)
.(5-48)J

<3> ki —-5-3

realley 2elanl) Jleabys Ciyaie dand JSiy Aoy Al 5480 JSE) 8 Gl HUY) sl
t=0.255eC o3l 5« t =0.15 secoail Gilsall V) Jlay) ~1
.t2 = 0.25sec 4kaalll ) t1 = 0.055eC adaalll (o Sl5aY) Jisie awy =2
sl il 8 Al Ayl gyt dal e & e ASAD ZANY) Tyl dsl s S ey
Y0 =0.03 M sjlaie Jsf JUmly ovo = 0.15 m/ sec?la,lsia

Mz

FO =25k [TTTITTTTTTI LT LTI LTI,

k= 1500 KM/m
k== 2000 KMN/m
me= 12 KM.secsm m

rre= 12 KN.secim! T T T T T TL

me= 18 KM.se®m T

m. h:$ 25 m
LT LT T, |

N ke ol I “lhEam

L £ :_:g L L1

el gn Bi3al) Apmiill Algaal) alade

F(t)l\ FO = 25 KN
ts=0.1sec
te=0.2sec
Fe
-t
O td1 td -




dagara Al gl Jag ki Alla

: 1=0.15 sec il de Jlaiyy *

JSall 8 LS (Triple Frame e dmlul) dgaldl (o (ailiie yljie e JSE Hbas
.(5-49)

Single Frame

Shape of the impulsive load Shape of the impulsive load Shape of the impulsive load

.(5-49) Jsa
Al dgalgll ek
F(t)
— Inputs 1(Frame Properties) A y
kT (knim) = mifkn.sec2/m) = h1(m) = F a
of 2 )
i) | k
K2 (knim) = m2(kn.sec2/m) = h2(m) = Oty te
— Output
Number of Spans  m3fkn.sec2im) = h3(m) =
~Inputs 2{Pulse Properties) —Inputs for { y(t) & t Diagram }—
vl (m/sec) = it (sec) = t1 (sec) = .'IH (m) = DLF1=
yo (m) = 2 (sec) = 12 (sec) = ya(m= DLF2 =
0 (kn) = t fsec) = dt = ¥im) = DiLF3=
Do Plot ytot(m) = DLF tot =
| Show DLFmax |

.(5-50) s
(5-51) IS8l Uyl pmal) cilicalse Jlaal a5k

——
| —



il sa

Ly
— Inputs 1(Frame Properties)
—>
k1 (knim) = 1500 mifkn.sec2/m) = 12 h1(m)= 3
k2 (knim) = 2000 m2{kn.sec2/m) = 15 h2 (m) = 25
Number of Spans mifkn.sec2/m) = 18 h3(m) = 4
4
Glaial 9a
oal
I —Inputs 2{Pulse Properties) —Inputs for { y(t) & t Diagram )—
vl (misec) = 0 tclt (sec) = 0.1 tf (sec) =
¥o(m) = 0 td2 (sec) = 0.2 t2 (sec) =
0 (kn) = 25 t(sec) = 0.15 dt =
Do [ Plot |
.(5-51) sl

leie Baaly IS Jan DG ) 2K Aleall disas 5 Sl5aY) Tl Gl alind) sy (DO s o
L) Gl s ales IS e Jalagn JalSS Gulat &b (g (A881S0 1S 5 3aa)5 dyya Ay O
Adlra el ¢ gyud Slzal LG " S Jladdl 8 oy 48 JEY1 Glaa Gglhall a3l o il
O dal e el cdlaalll oda & Saeliall Ageal) Jale 5 JEY) dad 5 Jlaall 138 3 Gylain)
((5-52)Jsal L ilea

F(t)

sty ddales
— Output
LS y(t)=
Yst*{1-sin{w*t)/{w*td1)+sin{w
*t-td 1)) {wtd1 +sinfw {t-td1) )/ (w*{td2-td
1))-(t-td1)f{td2-td1))
oY) Alaall Jlanl
> y1(m)= 0.002416 DLF1= 0.86975
Al dleall Jusm) S y2(m)= 0.001302 DLF2= 0.46873
N
LA Aleadl ) 1 ¥3m) = 0.0010932 DLF3= 0.39354
> ytot(m)= 00029542 | DLF tot= 1.0635
PATA |
Show DLFmax
.(5-52) gsid




L Jall cpe o<E)

A8 Alaad) ) Jysaill
KA dyal) 4dall clua—1]
K. = 2K; + (n — 1)K, = 2x1500 + (4 — 1)x2000 = 9000kN/m
o Asapdall Gyl Glaa—2
:aalll) Adaleall Ja ey

det[[Ke] — w?. [m]] =0
a=-my.m,.m; =-12x15x18 = —3240
b = K.(2m,.m3 + 2m;.m3 + m;.m,)
= 9000(2x15x18 + 2x12x18 + 12x15) = 10368000
c = —K.%(3m; + 2m, + m;) = —90002(3x18 + 2x15 + 12) = —7776x10°
d = K.* = 90003 = 729x10°

—3240(w?)3 + 10368000(w?)? — 7776x10°w2 + 729x10° = 0
:J}.J.Aj\ tT!LuA} Aalaall 522 d; dic
(w1)? =2116.0708 = w;; = 46 rad/sec

(w,,)?2 =974.8576 = w,, = 31.2227 rad/sec
(w33)? =109.0714 = w33 = 10.4437 rad/sec

: 3y blal il -3

:J o) Laaill
@11 =1
2K, — w?;ym; 2x9000 — 2116.0708x12
Dyy = ™ = 5000 = —0.8214
2K, — w?;;m;  2x9000 — 2116.0708x12
®31 = = == 0.254‘1
Ko — w?;,m; 9000 — 2116.0708x18
®11
@511 = |-0. 8214
D34 0.2541
: S0l Lol
®12 =1
G, — 2K, — w?,,m, B 2x9000 — 974.8576x12 B
2z k B 9000 B
2K, — w?,,m;  2x9000 — 974.8576x12
@32 = = = —0.7373

Ko — w?5,m; 9000 — 974.8576X18

®12
o] |z
B3z 0.7373

=
—~
o

| S—




sl o)

®13 =1
5 2K, — w? 33y _ 2x9000 — 109.0714x12 _ _ 18546
23 = k 9000 '
2K, — w?33m;  2x9000 — 109.0714x12
@33 == == = 2372

Ko — w?3sm; 9000 — 109.0714x18

®13
B3| = [1 8546
B35 2.372

tilea S me Atal) ddaaal) AT Gl —4

:J) Taaill
( L]
M; = m;. (2)112 + mj. ®212 + m;. ®312 | me, = (M)
= 12x1 2 + 15x(~0.8214)2 + 18x0.25412 = 23.2826 | _ { (4.2528)?
LY = my. @11 + my. By + m3. 034 ) | - 2:’% 2826
= 12x1 — 15x0.8214 + 18x0.2541 = 4.2528 \= 0.7768KN. sec?/m
: S Laail)
2 : : (1)
M; = my. @1," + myp. @rp" + +m3. @3, ) mez = M
= 12x12 + 15x0.7 2 + 18x(—0.7373)? = 29.1350 | _, 9 2286)22
L‘% =m;. @1, + my. B3y + M3. B3, | - W
= 12x1 + 15x0.7 — 18x0.7373 = 9.2286 :

\= 2.9232KN.sec?/m

sl ol
2 2 2 (L}f)l’)z
M; =m;.0,3° + my. 0,37 + +m3. B35 me; =
= 12x12 + 15x1.8546 2 + 18x2.372% = 164.868 3
i J; _X Ao = (82.515 )2
L3 = my. 03 + my. @p3 + m3. B33 — 7
= 12x1 + 15x1.8546 + 18x2.372 = 82.515 164.868

= 41.298KN.sec?/m
0 Sliely « tgy < £ < tgp W ) e b ALt Zubal e L) Asles st

tJSAll tgy = 0.5t oY bl e (gl
(ZSin [w(t - t;d)] — sin(oot))

O)td

Y(t)ZYSt 2(1—-——+
tq

'td2 = td == 02 ui a_xz\;




:JY) el Jaf o
tdal (e ety Asleay Gagns

209 107.6382 rad
mel 0.7768 rad/sec

— = (0.00278
K ~ 9000 o
10 = 00027812 |1 (2sin[107.6382(0.15 — 0.1)] — sin(107.6382x0.15))
yl© =o. " 0.2 "+ 107.6382x0.2
y1(t) = 0.001094m = 0.0010932 m OK

o Gilsia sas Lo Lt Loyl Clan ) Caifis asiy malinall Y gealipd) 3 G Jaaill Jolay sas
>l dall
p SN Jaail) Jal o

tdal (e Llaaa) Alaay (asas

’ /2 9232 — = 55.4872 rad/sec

(251n [55.4872(0.15 — 0.1)] — sin(55.4872x0.15))
"0z " 55.4872x0.2
y2(t) = 0.0013028m = 0.001302 m OK

el dall xa Bilsia g
Gl Laal) Jal e
rdal e L) Wsleay g

’ ’41 598 = = 14.7624 rad/sec

015 (25m 14.7624(0.15 — 0.1)] — sin(14.7624x0.15))
0z 14.7624x0.2

y2(t) = 0. 00278

y3(t) = 0.00278{

y3(t) = 0.002417m =~ 0.002416 m OK
sy chaelaa Gl il i agh gl of Dliel malid) (& Js¥) Jaaill Jolay sag
cexapll Jal) e (il5e
:1=0.25 sec ol de Jlaiy) *
i 4 JEN) Glaa glladll a3l) o) laely 5 Do it &3 <0.25seC ) el Jaasiy asis
Dganl) Jele 5 JEY) dad 5 Jlaall 138 3 Blai) Aobee Ledai " ja Sl " A Jlad) b
(5-53)JSal) b LS cidaalll oda & Syalipal

=
—
<

| S—




Fr)

—Inputs 1(Frame Properties)
kit (knim) = 1500 mifkn.sec2/m) = 12 hi (m) = 3 Eo ) f
=1
f(r) .
k2 (knim) = 2000 m2(kn.sec2/m) = 15 h2 (m) = 25 >t
0Tty faz
— Output
Number of Spans mlfkn.sec2/m) = 18 h3(m) = 4 /
y{t=
4 Yst*(-sin{w*t){w*td1)+sin{w"(
t-td 1)) (wtdd1 Y +sin{w™ (t-td 1)) (w™ {td2-td1)
\)-sin(w"(t-td2)).‘(w*(td2-td1)))
— Inputs 2{Pulse Properties) —Inputs for ( y({t) & t Diagram }J—

V0 (misec)= @ 11 (seg) = 01 # (sec) = yi(m= | 00027265 W DLFI= 0.98146
¥o(m} = 0 td2 (sec) = 0.2 12 (sec) = y2(m)= | 000023174 @ DLF2= 0.083425
10 (kn) = 25 dt = Yy3(m)= | _0.00026857 | DLF3= 0.096686

[ Plot yiot(m) = 00027493 DLFtot=  0.98973
[ Show DLFmax ]

(5-53) s

qu:a Jall e st
sl JSa Sliiels ¢ tgp <t L Gl Jlaall 8 GLdail Auhall e Glaial) sl Jass

tJSalL tgq = 0.5tg, oY Lblie bk

y(t) = ygt {ooitd <Zsin [oo(t — %d)] —sinfw(t —ty)] — sin(wt))}
tJsy) baadll Jal oy

tdal e L) Adleay (iasas
w; = 107.6382 rad/sec
y1(t) = 0.00278{ (2sin[107.6382(0.25 — 0.1)]

107.6382x0.2
—sin[107.6382(0.25 — 0.2)] — sin(107.6382x0.25))}

y1(t) = 0.00278{ (ZSin(107.6382X0.15) —sin(107.6382x0.05)

107.6382x0.2
— sin(107.6382X0.25))}
y1(t) = — 0.0002693m ~ —0.00026857 m OK
e Gilsie s (Lol duanlall Clan i) i o gy galind) Y galipll 6 B Taaill Jalay s

ceaad) Jall
t S el Jaf o
sl e sy Aaleay Liagas
w, = 55.4872 rad/sec




2 _ -
ST 7877007 (25in(55.4872x0.15) — sin(55.4872x0.05)

— sin(55.4872x0.25))}
y2(t) = 0.0002304m ~ 0.00023174 m OK
s Gl Lal) Jab e
tdal (e L) Adleay (iasas
w3 = 14.7624 rad/sce
(2sin(14.7624x0.15) — sin(14.7624x0.05)

y2(t) = 0.00278{

2

14.7624x0.2
- sin(14.7624x0.25))}

y3(t) = 0.002728m = 0.0027263m OK

sas cbaelai Dpnulall Claagll Guif sy el of Jliel melidl 3 J¥) Laaill Jalay as

el dall ae (il 5

:t2 = 0.25 sec daall) ) t1 = 0.05 sec sl o SJAY) Aada aay *

(5-54) il 4 LS ) liadie <8 JAaY) Al dea (e Baw WS

sl Aleall 51 Y) e L Alaall ) AVl isie

x10° x x10°

y3(0) = 0.00278{

Sy

0
0.05 01 0.15 0.2

(5-54) s

dagira & Ayl hag i Adla
: 1=0.15 sec ol de Jlany) *

& corie JENY) Clua usllaall cpailly A8 )all g1 da g il Jlaaly anil) cilialse Joawy o5

el gmd fia) T N Jlaal) (8 gy 4 JEY) Gl Gosllad) gl o lsiely 5 Do




cilea JS) Adaalll o3 & Sualial) Alganll Jale 5 JEEY) Aad 5 Jlaall 138 8 Glaia) Allas
(5-55)Ja b s

A Filly
—nputs 1{Frame Properties)
m
k1 (knim) = 1500 mifkn.sec2’'m) = 12 At {m)= 3 Es f
i
i) T
k2 (knim) = 2000 m2(kn.sec2/m) = 15 h2 {m) = 25 >
0 Tty te
— Output
Number of Spans  m3(kn.sec2/m) = 18 A% (m) = 4
— yit)=
4 yO*cos(w™t)+(vOiw-Yst/(w*td1
Nesin{wrt)+{Ysti{iwtd1))*sin{w*{t-td1))+{Y
stf{w*(td2-td1)))*sin{w*(t-td1))+¥st*(td2-t)/{td2
—Inputs 2(Pulse Properties) — Inputs for { yw(t) & t Diagram }—
< v0 (misec} = (.15 td1 (sec) = 01 H (seq) = viem)= | _00074571  DLF1= 2.6846
< 2 (sec) = 02 12 (sec) = y2{m}= | .00097716 DLF2= 3.6178
0 (kn) = 25 t(sec) = 015 dt = Y3m)= | 0027236 DLF3= 9.805
Do Plot ytotim)=  p.029881 DLF tot = 10.7673

Show DLFmax I

.(5-55)Jsll

L Jall e sty
Ligyd dsas ety S < gy W S0 Jlaall 8 Addanll Luhall e Dylaia) Aobes s

: IS A8 all A
Vo Vst . Vst .
y(t) = yocos(wt) + (— — sin(wt) + sin[w(t — tgy)]
w Wiy Wty " )
Vst . dz —
——————sinfw(t —tyg)] + ysg———
w(tgz — tq1) a Yt taz — tag

:J ) el Jad o
sl e i) Alsleay i gas
w; = 107.6382 rad/sec

1(t) = 0.03cos(107.6382x0.15) + ( 0.15 0.00278 ) in(107.6382x0.15)
YU = DUSCOSL U6 502X0. 107.6382  107.6382x0.1) S0/ -600eX0
+ 000278 [107.6382(0.15 — 0.1)]
107.6382x0.1 L0 ' '
+ 000278 in[107.6382(0.15 — 0.1)] + 0.00278 02-015
107.6382(0.2 — 0.1) P ' ' ' 02—01

1(t) = 0.03co0s(107.6382 015)+( 0.15 0.00278 ) in(107.6382x0.15)
yrb = BAESC0SLI 768Xt 107.6382  107.6382x0.1) S0 /-000eX:
0.00278 0.00278

sin(107.6382x0.05) + sin(107.6382x0.05)

* 107.6382x0.1 107.6382x0.1

+0.00278 0.05
' 0.1

y1(t) = —0.02667 m = —0.027236 m OK

AR

——
| —



Jall e Gilsie sas Lo liai Lpmall Caa il Cai iy sy ojliie by alipal 8 G Jaadl) Joley s
el
t S Jaail) Jaf o
tal (e i) Aalaay ingad
w, = 55.4872 rad/sec

2(t) = 0.03cos(55.4872 015)+( 0.15 0.00278
YO T IR o A 554872  55.4872x0.1

T in(55.4872x0.05) + 00278 in(55.4872x0.05)
55.4872x0.1 W20 eXT: S g2 1 SN (55-4872x0.

+0.00278 0.05
' 0.1

y2(t) = —0.009848m = —0.0097716 m OK
el dall xa Bl g
Gl Lal) Jab e
tdal (e L) Adleay (iasas
w3 = 14.7624 rad/sec

3(t) = 0.03cos(14.7624 015)+( 0.15 0.00278
RN 14.7624 14.7624x0.1

, 000278 (14.7624%0.05) + 0.00278 (14.762450.05)
14.7624x0.1 > A /045X, e Sin(14.7624x0.

0.05
+0.00278 -
y3(t) = —0.007455m ~= —-0.0074571m  OK

s hae b dumplal) Gl i o gl of el sl 8 JSY) bl Joley 8
cexll dall e (3él5i

) sin(55.4872x0.15)

)sin(14.7624x0.15)

: 1=0.25 sec ¢l aie Jlauy) *

b 4 JEN) Glaa glladll aill o Jlaely 5 Do il & <0.255eC ) el Jaasiy o
Ugeall dale 5 JEY) e 5 Jlaall 138 5 LlaiaV) Alslee edsi " n sl " Gl Jlad) b
(5-56)JSal laalll oda & Spaliyall




—Inputs 1{Frame Properties)
k1 (kn/m) = 1500 mikn.sec2/m) = 12 ht (m)= 3 Es f
f(T) T
k2 (knim) = 2000 m2(kn.sec2/m) = 15 h2 (m) = 25 el >t
a1 toa
— Output
Number of Spans m3kn.sec2/m) = 18 h3(m) = 4
yt)=
4 /yoﬁcos(w“t)ﬂvmw-\’stl(m
< P sinfwt)+(Ystiw td1)) sin(w*(t-td1))+{Y )
sti{w*(td2-td1)))*sin{w*(t-td1))-Yst*sin{w™*(t-td2)

\ W(w*{td2-td1))

—Inputs 2(Pulse Properties) —Inputs for { y(t) & t Diagram )—
v0 (misec) = (.15 td1 (sec) = 0.1 # (sec) = yi(m)=| _po28167 @ DLF1= 10.1403
y0 (m) = 0.03 td2 (sec) = 02 12 (sec) = y2im)=| 0010838 DLF2 = 3.9017
f0 (kr) = 25 t(seq) = 0.25 dt = y3(m)= | _0.0049843 @ DLF3= 1.7943
Do | Plot yiot(m)= 0030589 |DLFtot= = 11.0122
[ Show DLFmax ]

(5-56) s

L Jall e sty

Aglgl Jog i dsmg pa tgy <t Ll Jlaall 8 Abdarl) Auhall (e Aglain) Alalee Jaed
: JSlL 4K Al

Vv
y(0) = yocos(wt) + (5" _ myt;) sin(wt) + (:t;l sinfo(t — tg,)]
Vst . Vst :
sinfw(t—tgy)] — sinfw(t — tgy)]
w(tgz — tar) a w(tgz — tar) 1z

: JoY) Jaadll Jaf e
tdal e Llaii) Aslaay (ia sas

w, = 107.6382 rad/sec
0.15 0.00278

y1(t) = 0.03cos(107.6382x0.25) + (107.6382 ~107.6382x0.1

+ 000278 . [107.6382(0.25 — 0.1)]
107.6382x0.1  LHE7 ' '
0.00278

)sin(107.6382x0.25)

sin[107.6382(0.25 — 0.1)]

T 107.6382002 — 0.0)
0.00278

©107.6382(0.2 — 0.1)

sin[107.6382(0.25 — 0.2)]

1(t) = 0.03co0s(107.6382 025)+( 0.15 0.00278 ) in(107.6382x0.25)
yb) = BASC0SLI 768X, 107.6382  107.6382x0.1) S0/ -000eX:
+ 000278 (107.6382x0.15) + 000278 (107.6382x0.15)
10(7).(6)3(;&3%0.131“ 020aXT. 107.6382x0.1 0/ 02CeXT:

y1(t) = — 0.00504m ~ —0.0049843 m OK

Y

——
| —




e 8sie say clne Lt Apmpdal) oyl (i o sy el (0 malipll 8 G Jaadl) Joley s
el Jall
t S Jaail) Jaf o
tal (e i) aleay iages
w, = 55.4872 rad/sec

2(t) = 0.03cos(55.4872 025)+< 0.15 0.00278
YR T e n e 55.4872  55.4872x0.1

0.00278 0.00278

) sin(55.4872x0.25)

+ o g7 2x0.1 SN(55.4872x0.15) + oo~ sin(55.4872x0.15)
000278 in(55.4872x0.05)
55.4872x0.1 o2 O X
y2(t) = 0.00906m = 0.010838 m OK

el Jall e Bl s
Gl Lal) Jab e
sal e Llaia¥) Aaleay (ia s
w3 = 14.7624 rad/sec

3(t) = 0.03cos(14.7624 025)+( 0.15 0.00278 ) in(14.7624x0.25)
yort) = DASCOSLA% /D AAXE. 14.7624  14.7624x0.1) >/ 0ex

, 000278 n(14762450.15) + 0.00278
14.7624%0.1 > /04X 14.7624x0 1

0.00278 (14.7624x0.05)
14.7624%0.1 > o /04X

y3(t) = — 0.028165m =~ —0.028167m  OK
s cbaeloay Lonnlall laaill iy asty el of Jliel gelindl 8 Js¥) all Jaley sa
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ABSTRACT

This research deals with the study of the effect of impulsive loads in its various
forms ( fixed constant, increasing continuous, triangular declining triangular
increasing, rectangle, square, triangular increasing decreasing, continuous
declining, trapezoid, Parabola) the sentences of construction and a single degree of
freedom, which has been set equation to respond in accordance with the integration
of Duhamel and displacement with the times, taking into account the initial
conditions of the motion.

It has programming equation respond to all forms of pulse studied using the
MATLAB and was waived on the establishment of a program we get through the
transition sentence at the moment of time specified by the user, and draw a
diagram to move with the times, in addition to chart your factor load dynamic
maximum (DLFmax) in relation to the percentage of time the effect of pulse td to
the fundamental role of vibration T, in order to sentences of degrees of freedom per
and for tires bilateral and trilateral multiple degrees of freedom after returned to the
sentences equivalent degree of freedom of one so that we can use the relationship
of Duhamel's integration in the appointment of the dynamic response in
accordance with the time.

The program was tested through a series of practical examples and verify the
results of computational methods manual and diagrams by comparing the charts
from the search are with those contained in the references for dynamic analysis. It
has been reached on a set of conclusions on the structural response to impulsive
loads through a set of numerical examples using the solution manual and software
solution.
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